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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 1 GERMAN QUESTION PAPER

Topic:- 44German_A

1)
Wo steht kein Minimalpaar?
(1) Reise - leise (2) Wand - Hand
(3)  Lieder - leider (4) Kind - Rind

[Question ID = 995][Question Description = Q01_German_SHAAN_NOV20]
1. 1 [Option ID = 3977]
2. 2 [Option ID = 3978]
3. 3 [Option ID = 3979]
4. 4 [Option ID = 3980]

Z)
Welche Pluralform von ,Straul” ist richtig?

(1)  StrauBe sind die groBen Laufvogel, die in Afrika zu sehen sind
(2)  StrauBen sind die groBen Laufvogel, die in Afrika zu sehen sind
(3)  StrauBe sind die groBen Laufvogel, die in Afrika zu sehen sind
(4)  StrauBen sind die groBen Laufvogel, die in Afrika zu sehen sind

[Question ID = 996][Question Description = Q02_German_SHAAN_NOV20]
1. 1 [Option ID = 3981]
2. 2 [Option ID = 3982)
3, 3 [Option ID = 3983]
4, 4 [Option ID = 3984]

3)
Welche Schreibweise ist richtig?
(1) E-Mail (2) Email
3 e-Mail (4) email

[Question ID = 997][Question Description = Q03_German_SHAAN_NOV20]
1. 1 [Option ID = 3985]
2. 2 [Option ID = 3986]
3. 3 [Option ID = 3987]
4. 4 [Option ID = 3988]

4)
Was braucht man nicht zum Kuchenbacken?

(1) Backpulver (2) ein Backblech
(3) eine Backform (4) eine Backpfeife

[Question ID = 998][Question Description = Q04_German_SHAAN_NOV20]
1. 1 [Option ID = 3989]
2. 2 [Option ID = 3950]
3, 3 [Option ID = 3991]
4. 4 [Option ID = 3992)

3)
Welches Wort schreibt man nicht mit , tz™?

(1) Blitze (2) Skitze
(3) Spitze (4) Spritze
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[Question ID = 999][Question Description = Q05_German_SHAAN_NOV20]
1. 1 [Optien ID = 3993]
2. 2 [Option ID = 3994]
3. 3 [Optien ID = 3995]
4. 4 [Option ID = 3996]

6)
Sie hat ihr Studium 2019 mit dem Staatsexamen
(1) abgeschlossen (2) abgefertigt
(3) zugemacht (4) geendet

[Question ID = 1000][Question Description = Q06_German_SHAAN_NOV20]
1. 1 [Option ID = 3997]
2. 2 [Option ID = 3998)
3, 3 [Option ID = 3999]
4, 4 [Option ID = 4000]

7)
Welche Pluralform ist falsch?

(1) Der Betrug — die Betrugereien {(2) Der Streit — die Streite
(3) Das Vergniigen — die Vergniigungen (4} Der Regen — die Regentfille

[Question ID = 1001][Question Description = Q07_German_SHAAN_NOV20]
1. 1 [Option ID = 4001]
2. 2 [Option ID = 4002]
3. 3 [Option ID = 4003]
4. 4 [Option ID = 4004]

8)
Welches Sprichwort ist nicht richtig?

(1) Kinder und Narren sagen die Wahrheit
(2) Gleich und gleich gesellt sich gern

(3) Steter Tropfen ist niemands Freund

(4) Wo Rauch ist, muss auch Feuer sein

[Question ID = 1002][Question Description = Q08_German_SHAAN_NOV20]
1. 1 [Option ID = 4005]
2. 2 [Option ID = 4006]
3. 3 [Option ID = 4007]
4. 4 [Option ID = 4008]

?)
Was bedeutet  Fersengeld geben™?
(1) mit Falschgeld bezahlen
(2) sich umdrehen
(3) flichen
4) sich keine grof3e Miithe geben

[Question ID = 1003][Question Description = Q09_German_SHAAN_NOV20]
1. 1 [Option ID = 4009]
2. 2 [Option ID = 4010]
3. 3 [Option ID = 4011]
4. 4 [Option ID = 4012]

10)
Ein Kunde fragt Sie am Telefon: Ist die Ware palettisiert?” Er meint:
(1) Steht die Ware auf Paletten?
(2) Liefern Sie auch Paletten?
(3) Ist die Ware versandbereit?
(4) Wo ist die Ware mit den Paletten?
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[Question ID = 1004][Question Description = Q10_German_SHAAN_NOV20]
1. 1 [Option ID = 4013]
2. 2 [Option ID = 4014]
3. 3 [Option ID = 4015]
4, 4 [Option ID = 4016]

11)
Welche Waorter bilden eine einheitliche Gruppe?

A Blutwurst
B. Weilwurst

C. Leberwurst
D. Extrawurst

Wihlen Sie die richtige Antwort aus:

1) A BundD
2 A CundD
@ B.C,undD

4 A BundC

[Question ID = 1005][Question Description = Q11_German_SHAAN_NOV20]
1. 1 [Option ID = 4017]
2. 2 [Option ID = 4018]
3. 3 [Option ID = 4019]
4, 4 [Option ID = 4020]

12)
Welche Sitze sind falsch?

A Ich habe den Aufsatz umgeschrieben.
B. Ich habe diesen Fehler iibergesehen.
C. Wir setzen hier mit der Fahre tiber.

D. Wo haben Sie Ihren Wagen unterstellt?

Wahlen Sie die richtige Antwort aus:

() AundB
22 BundC
3) BundD
499 AundD

[Question ID = 1006][Question Description = Q12_German_SHAAN_NOV20]
1. 1 [Option ID = 4021]
2. 2 [Option ID = 4022]
3, 3 [Option ID = 4023)
4. 4 [Option ID = 4024]

13)
Welche Aussagen sind richtig?

A Die Transformationsgrammatik wurde von Saussure entwickelt.
B. Die Dependenzgrammatik stammt von Lucien Tesniére.

C. Die Dependenzgrammatik wurde von Helbig und Engel weiterentwickelt.
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D. Die Schulgrammatik ist ein Synonym fir Strukturalismus.

Wihlen Sie die richtige Antwort aus:

(1) AundB
© BundC
® BundD
@ AundD

[Question ID = 1007][Question Description = Q13_German_SHAAN_NOV20]
1. 1 [Option ID = 4025]
2. 2 [Option ID = 4026]
3. 3 [Option ID = 4027]
4. 4 [Option ID = 4028]

14)
<etwas in den Wind schlagen™ bedeutet

A. Lebenserfahrungen sammeln
B. durch Erfahrungen reifer und kliiger werden
C. einen Rat nicht nehmen

D. etwas nicht beachten

Wiihlen Sie die richtige Antwort aus:

(1) AundB
@ BundC
@ BundD
@ CundD

[Question ID = 1008][Question Description = Q14_German_5HAAN_NOV20]
1. 1 [Option ID = 4029]
2. 2 [Option ID = 4030]
3. 3 [Option ID = 4031]
4. 4 [Option ID = 4032)

15)
Welche der folgenden sind Synonympaare?

A bersten - platzen

B. speisen - kapieren

C. einithen - pauken

D. kriegen - angeben

Wiahlen Sie die richtige Antwort aus.

() AundB
@ AundC
3 BundC

4 BundD
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[Question ID = 1009][Question Description = Q15_German_SHAAN_NOV20]
1. 1 [Option ID = 4033]
2. 2 [Option ID = 4034)]
3. 3 [Option ID = 4035]
4, 4 [Option ID = 4036]

16)

Lesen Sie die Listen I und II :

Liste I Liste IT
A Wir mussten die Tir mit  offnen I. Starke
B. Wissenist II. Kraft
C. Den Aufbau haben wir aus eigener ___ geschafft. III. Gewalt
D. Die wirtschaftliche  eines Landes besteht in seiner

IV. Macht
Industrie.

Welche der folgenden Kombinationen ist richtig?

() ALBIICIV.DII
@  AIV,BIIL CIDII
() AT BIV,C-H, DI
@) ALBILCIV,DII

[Question ID = 1010][Question Description = Q16_German_SHAAN_NOV20]
1. 1 [Option ID = 4037]
2. 2 [Option ID = 4038)
3, 3 [Option ID = 4039]
4, 4 [Option ID = 4040]

17)

Lesen Sie die Listen I und IT -

Liste I Liste IT
A.  Sein Geist ist umnachtet I. umgangssprachlich
B. Erist geisteskrank II. grob
C. Er hat seine finf Sinne nicht beisammen [III. neutral
D. Er ist ithergeschnappt IV. gehoben

Welche der folgenden Kombinationen ist richtig?

(1) AIV,BIIL C-I, D-II
@ ALBILCIIDIV
(3 AIV,BIL C-II DI
@  AILBIV,CLDII

[Question ID = 1011][Question Description = Q17_German_SHAAN_NOV20]
1. 1 [Option ID = 4041]
2. 2 [Option ID = 4042]
3. 3 [Option ID = 4043]
4. 4 [Option ID = 4044]

18)

Welche Anordnung ist richtig? Ordnen Sie die Laute nach dem Artikulationsort von hinten
nach vorn!

(1)  velar, alveolar, uvular, palatal

(2) alveolar, uvular, palatal, velar

(3) uvular, velar, palatal, alveolar

(4) palatal, uvular, alveolar, velar
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[Question ID = 1012][Question Description = Q18_German_SHAAN_NOV20]
1. 1 [Option ID = 4045]
2. 2 [Option ID = 4046]
3. 3 [Option ID = 4047]
4, 4 [Option ID = 4048]

19)
Welche Anordnung ist der Silbenzahl nach richtig?
(1) Rauch, Sofa, Papagei, Lastenwagen
(2) Sofa, Lastenwagen. Rauch, Papagei
(3) Papagei, Sofa, Rauch, Lastenwagen

(4) Lastenwagen. Sofa, Rauch. Papagei

[Question ID = 1013][Question Description = Q19_German_SHAAN_NOV20]
1. 1 [Option 1D = 4049]
2. 2 [Option ID = 4050]
3. 3 [Option ID = 4051]
4. 4 [Option ID = 4052]

20)

Welche Anordnung ist richtig?

(1) Strukturalismus, Schulgrammatik, Generative
Konstituentengrammatik

(2) Konstituentengrammatik, Schulgrammatik, Strukturalismus,
Grammatik

(3) Generative Grammatik, Schulgrammatik, Konstituentengrammatik,
Strukturalismus

(4) Schulgrammatik, Strukturalismus, Konstituentengrammatik,
Grammatik

[Question ID = 1014][Question Description = Q20_German_SHAAN_NOV20]
1. 1 [Option ID = 4053]
2. 2 [Option ID = 4054]
3. 3 [Option ID = 4055]
4. 4 [Option ID = 4056]

21)
Woyzeck ..

A ist ein typisches Beispiel fur ein offenes Drama.

B. zeigt die Welt, wie sie ist und nicht wie sie sein sollte.
C. stellt Ficuren mit divergierenden Lebenswelten dar.
D. ist ein umgangssprachliches Stuack.

Wihlen Sie die richtige Antwort aus.

() AB&C 2 B.C&D
3 A&B 4 C&D

[Question ID = 1015][Question Description = Q21_German_SHAAN_NOV20]
1. 1 [Option ID = 4057)
2. 2 [Optien ID = 4058]
3. 3 [Option ID = 4059]
4. 4 [Option ID = 4060]

22)

“Wenn jemand eine Reise tut, so kann er was erzahlen.” - Welche der folgenden Aussagen

passen am besten zu diesem Zitat?
A BReisen ist das beste, ja das einzige Heilmittel gegen Kummer.

B. Das Leben ist eine Reise.

Grammatil,

Generative

(Generative
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C. Die grofite Sehenswirdigkeit, die es gibt, ist die Welt — sieh sie dir an.
D. In der Fremde erfahrt man mehr als zu Hause.

Waihlen Sie die richtige Antwort aus.

1 A&B @ B&C
@ C&D @ B&D

[Question ID = 1016][Question Description = Q22_German_SHAAN_NOV20]
1. 1 [Optien ID = 4061]
2. 2 [Optien ID = 4062]
3. 3 [Option ID = 4063]
4. 4 [Option ID = 4064]

23)
Unter Erziahlperspektive versteht man, __

A wie viel der Erziihler iber die Protagonisten und die Erzihlung weil.
B. den Standpunkt des Autors zum Erzihlten.

C: die Sichtweise des Hauptcharakters auf die erzahlte Welt.

D. den Blickwinkel der Stimme, die erzahlt.

Wihlen Sie die richtige Antwort aus.

1) A&B
@ B&C
3 C&D
4 A&D

[Question ID = 1017][Question Description = Q23_German_SHAAN_NOV20]
1. 1 [Optien ID = 4065]
2. 2 [Option ID = 4066]
3. 3 [Option ID = 4067]
4. 4 [Option ID = 4068]

24)
Ironie ist ein rhetorisches Stilmittel, ...

A bei dem etwas ausgedrickt wird, um einen Gegenstand zu belachen.
B. bei dem der Héorer das Gegenteil von dem GeauBerten verstehen soll.

C. bei dem der Sprecher neben der wortlichen Bedeutung eine zusiatzliche vermittelt.

D. bei dem das Gemeinte nicht wortlich genommen wird.

Wihlen Sie die richtige Antwort aus.

(1) A&B
(2) B&C
3 C&D
4 A&D

[Question ID = 1018][Question Description = Q24_German_SHAAN_NOV20]
1. 1 [Optien ID = 4069]
2. 2 [Optien ID = 4070]
3. 3 [Optien ID = 4071]
4. 4 [Option ID = 4072]
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25)

Infolge der Globalisierung

A wird zunehmend in solchen Staaten produziert, die die héchsten Kostenvorteile
bieten.

B. kénnen die neuen Kommunikationstechnologien grenzenlos angewendet werden.

C. werden die zwischenstaatlichen Grenzen auch fur Menschen porsser.

D. nimmt das Sicherheitzdenken zu.

Wahlen Sie die richtige Antwort aus.

@D
2)
(3)
(4)

AB&D
B.C&D
A&B
C&D

[Question ID = 1019][Question Description = Q25_German_SHAAN_NOV20]

oW 2 =

26)

. 1 [Option ID = 4073]

2 [Option ID = 4074]
3 [Option ID = 4075]
. 4 [Option ID = 4076]

Lesen Sie die Aussagen X (Behauptung) und Y (Begriindung).

X

Die industrielle Revolution brachte eine sozial spannungsreiche Umwandlung der

Agrargesellschaft.

Die Kluft zwischen einer besitzlosen Arbeiterschaft und den itber Produktionsmittel
und -kapital verfugenden Fabrikanten vergroflerte sich.

Welche der nachstehenden Aussagen ist richtig?

ey
2)
3)
4)

X und Y sind beide richtig und Y ist die Exrklarung fur X

X und Y sind beide richtig, aber Y ist nicht die Erklarung fur X
X ist richtig aber Y ist falsch

X ist falsch aber Y ist richtig

[Question ID = 1020][Question Description = Q26_German_SHAAN_NOV20]
1. 1 [Option ID = 4077]
2. 2 [Option ID = 4078]
3. 3 [Option ID = 4079]
4, 4 [Option ID = 4080]

27)

Lesen Sie die Aussagen X (Behauptung) und Y (Begriindung).

X

Es wird immer deutlicher, dass koloniale Verhaltnisse ein wichtiger Bestandteil

der Entwicklung der modernen Welt gewesen sind.

Die Pastkoloniale Thearie verscharfte den Blick fir die Langzeitfolgen des
Kolonialherrschaft.

Welche der nachstehenden Aussagen ist richtig?

D

X und Y sind beide richtig und Y ist die Erklarung fur X

prepp
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{2) X und Y sind beide richtig, aber Y ist nicht die Erklarung fur X
(3)  Xist richtig aber Y ist falsch

(4) X ist falsch aber Y ist richtig

[Question ID = 1021][Question Description = Q27_German_SHAAN_NOV20]
1. 1 [Option ID = 4081]
2. 2 [Option ID = 4082]
3. 3 [Option ID = 4083]
4. 4 [Option ID = 4084]

28)
Lesen Sie die Aussagen X (Behauptung) und Y (Begriindung).

X : Der Weg zum Wahlrecht war fiir Frauen deutlich Ianger als fir Minner.

Y : Das Frauenwahlrecht musste von den Frauen genauso erkampft werden wie das

allgemeine Wahlrecht fiir miannliche Birger.

Welche der nachstehenden Aussagen ist richtig?

(1) X und Y sind beide richtig und Y ist die Exklarung fir X
(2) X und Y sind beide richtig, aber Y ist nicht die Erklarung fur X
(3) X ist richtig aber Y ist falsch
(4) X ist falsch aber Y ist richtig
[Question ID = 1022][Question Description = Q28_German_SHAAN_NOV20]
1. 1 [Option ID = 4085]
2. 2 [Option ID = 4086]

3. 3 [Option ID = 4087]
4. 4 [Option ID = 4088]

29)
Lesen Sie die Aussagen X (Behauptung) und Y (Begriindung).

X :  Die Erklirung der Menschen- und Birgerrechte” 1789 erméglichte das Wahlrecht
fur alle mannlichen Burger.
Y : Historische Wurzeln des Wahlrechts liegen in den Forderungen der Franzasischen

Revolution nach Freiheit, Gleichheit und Briiderlichkeit.

Welche der nachstehenden Aussagen ist richtig?

(1) X und Y sind beide richtig und Y ist die Erklarung fir X
(2) X und Y sind beide richtig, aber Y ist nicht die Exklarung fur X
(3) X ist richtig aber Y ist falsch

(4) X ist falsch aber Y ist richtig

[Question ID = 1023][Question Description = Q29_German_SHAAN_NOV20]
1. 1 [Option ID = 4089]
2. 2 [Option ID = 4090]
3. 3 [Option ID = 4091]
4, 4 [Option ID = 4092]

30)
Lesen Sie die Aussagen X (Behauptung) und Y (Begriitndung).
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X : Die Migrationsforschung findet in der Exilforschung viele anregende Impulse.

Y : In der gegenwartigen Exilforschung ist anstelle von Heimatverlust das Interesse an
der Erfahrung und Verarbeitung der Fremde gewachsen.

Welche der nachstehenden Aussagen ist richtig?

(1) X und Y sind beide richtig und Y ist die Erklarung fur X
(2) X und Y sind beide richtig, aber Y ist nicht die Erklirung fiir X
(3) X ist richtig aber Y ist falsch

(4)  Xist falsch aber Y ist richtig

[Question ID = 1024][Question Description = Q30_German_SHAAN_NOV20]
1. 1 [Option ID = 4093]
2. 2 [Option ID = 4094]
3. 3 [Option ID = 4095]
4. 4 [Option ID = 4096]

Topic:- 44German_B
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1)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.

Deniz Ohde “Streulicht” (2020}

Die Schulkrankenschwester hatte es einen Unfall genannt. Sie sei ja auch etwas schmachtig,
hatte die Lehrerin erganzt. Sie konne gar nicht gemeint sein, entscheidet die Mutter, als sie
ihre Tochter aus der Schule abholt: “Du bist Deutsche.” Dabei ist das Madchen von einem
groferen Schiiler nicht nur “Kellerkind™ genannt worden, sondern es hat noch ein anderes

Wort gehort, "das auch mit K begann, ein anderes”. kurz vor dem 5StoB in den Ricken, nach
dem es auf dem Schulhof liegenblieb. allein, bis es gefunden wurde.

Selbst die beste Freundin hat keinen Blick fur das, was die Erzahlerin hindert und hemumit.
Fir Sophia besteht der Heimatort aus dem Reitstall, in dem sie voltigierte, und dem
Turnverein, in dem sie DBallett tanzte, und aus den schénen Strallen mit den
Einfamilienhiusern. Industrieschnee markiert die Grenzen des Orts. eine feine Siure liegt
in der Luft, und hinter der Werksbriicke rauschen die Fertigungshallen, wo der Vater
tagein, tagaus Aluminiumbleche beizt. Hier ist die Ich-Erzihlerin aufgewachsen, hierher
kommt sie zuriick, als ihre Kindheitsfreunde heiraten. Und wiihrend sie die alten Wege geht,
erinnert sie sich: an den Vater und den erblindeten GrofBvater, die kaum sprachen. An die
Mutter, deren Freiheitsdrang in der Enge einer westdeutschen Arbeiterwohnung erstickte,
ehe sie in einem kurzen Aufbegehren die Koffer packte und die Tochter beim trinkenden
Vater lieB. An den frihen Schulabbruch und die Anstrengung, im zweiten Anlauf
Versidumtes nachzuholen, an die Scham und die Angst — zuerst davor, nicht zu bestehen,
dann davor, als Aufsteigerin auf ihren Platz zuriickverwiesen zu werden.

Welches andere Wort hat das Midchen in der Schule gehtrt?

@D
(3

Klopskind (2) Kartoffel
Kanake (4) EKnallkopf

[Question ID = 1025][Question Description = Q31_German_SHAAN_NOV20]
1, 1 [Option ID = 4097]
2. 2 [Option ID = 4098]
3. 3 [Option ID = 4099]
4. 4 [Option ID = 4100]

2)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.

Deniz Ohde “Streulicht” (2020)

Die Schulkrankenschwester hatte es einen Unfall genannt. Sie sei ja auch etwas schmachtig,

hatte die Lehrerin erganzt. Sie konne gar nicht gemeint sein, entscheidet die Mutter, als sie
ihra Tashtar ane dar Schnla ahhalt “Th hist Nlentenha ™ TMahai it dae Madoshan van ainam
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groferen Schiiler nicht nur “Kellerkind™ genannt worden, sondern es hat noch ein anderes
Wort gehort, "das auch mit K begann, ein anderes™. kurz vor dem 5StoB in den Ricken, nach
dem es auf dem Schulhof liegenblieb. allein, bis es gefunden wurde.

Selbst die beste Freundin hat keinen Blick fur das, was die Erzéahlerin hindert und hemmit.
Fir Sophia besteht der Heimatort aus dem Reitstall, in dem sie voltigierte, und dem
Turnverein, in dem sie DBallett tanzte, und aus den schénen Strallen mit den
Einfamilienhiusern. Industrieschnee markiert die Grenzen des Orts. eine feine Siure liegt
in der Luft, und hinter der Werksbriicke rauschen die Fertigungshallen, wo der Vater
tagein, tagaus Aluminiumbleche beizt. Hier ist die Ich-Erzihlerin aufgewachsen, hierher
kommt sie zuriick, als ihre Kindheitsfreunde heiraten. Und wihrend sie die alten Wege geht,
erinnert sie sich: an den Vater und den erblindeten GrofBvater, die kaum sprachen. An die
Mutter, deren Freiheitsdrang in der Enge einer westdeutschen Arbeiterwohnung erstickte,
ehe sie in einem kurzen Aufbegehren die Koffer packte und die Tochter beim trinkenden
Vater lieB. An den frihen Schulabbruch und die Anstrengung, im zweiten Anlauf
Versidumtes nachzuholen, an die Scham und die Angst — zuerst davor, nicht zu bestehen,
dann davor, als Aufsteigerin auf ihren Platz zuriickverwiesen zu werden.

Die Hauptfigur

A hat einen deutschen Vater

B. lebt in einem Einfamilienhaus.

C. wachst in einer luftverschmutzten Gegend auf.
D. erinnert sich an die Geschichten des GroBvaters.

Waihlen Sie die richtige Antwort aus.

(1)
(3)

A&DB 2 B&C
B&D 4 A&C

[Question ID = 1026][Question Description = Q32_German_SHAAN_NOV20]
1. 1 [Option ID = 4101]
2. 2 [Option ID = 4102
3. 3 [Option ID = 4103]
4. 4 [Option ID = 4104]

3)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.

Deniz Ohde “Streulicht” (2020}

Die Schulkrankenschwester hatte es einen Unfall genannt. Sie sei ja auch etwas schmachtig,
hatte die Lehrerin erganzi. Sie konne gar nicht gemeint sein, entscheidet die Mutter, als sie
ihre Tochter aus der Schule abholt: “Du bist Deutsche.” Dabei ist das Madchen von einem
groferen Schiiler nicht nur “Kellerkind™ genannt worden, sondern es hat noch ein anderes

Wort gehort, "das auch mit K begann, ein anderes™. kurz vor dem 5StoB in den Ricken, nach
dem es auf dem Schulhof liegenblieb. allein, bis es gefunden wurde.

Selbst die beste Freundin hat keinen Blick fur das, was die Erzéahlerin hindert und hemumnit.
Fiar Sophia besteht der Heimatort aus dem Reitstall, in dem sie wvoltigierte, und dem
Turnverein, in dem sie DBallett tanzte, und aus den schénen Strallen mit den
Einfamilienhiusern. Industrieschnee markiert die Grenzen des Orts. eine feine Siure liegt
in der Luft, und hinter der Werksbriicke rauschen die Fertigungshallen, wo der Vater
tagein, tagaus Aluminiumbleche beizt. Hier ist die Ich-Erzihlerin aufgewachsen, hierher
kommt sie zuriick, als ihre Kindheitsfreunde heiraten. Und wihrend sie die alten Wege geht,
erinnert sie sich: an den Vater und den erblindeten GrofBvater, die kaum sprachen. An die
Mutter, deren Freiheitsdrang in der Enge einer westdeutschen Arbeiterwohnung erstickte,
ehe sie in einem kurzen Aufbegehren die Koffer packte und die Tochter beim trinkenden
Vater lieB. An den frihen Schulabbruch und die Anstrengung, im zweiten Anlauf
Versidumtes nachzuholen, an die Scham und die Angst — zuerst davor, nicht zu bestehen,
dann davor, als Aufsteigerin auf ihren Platz zuriickverwiesen zu werden.

Lesen Sie die Listen I und II.

Liste I Liste II

A  erzihlen L Flucht

B. rauschen II. Erinnerungen

C.

aufthegehren T1T. Erfolg
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5

schamen IIV Fabrik

Welche der folgenden Kombinationen ist richtig?

1
@)
3)
)

A-L B-II, C-1IV, D-III
A-IIL, B-II, C-1. D-1IV
A B-IV. C-I, D-II1
AIV. BIII CI, DI

[Question ID = 1027][Question Description = Q33_German_SHAAN_NOV20]
1. 1 [Option ID = 4105]
2. 2 [Option ID = 4106]
3. 3 [Option ID = 4107]
4. 4 [Option ID = 4108]

4)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.

Deniz Ohde “Streulicht” (2020)

Die Schulkrankenschwester hatte es einen Unfall genannt. Sie sei ja auch etwas schmachtig,
hatte die Lehrerin ergéinzt. Sie konne gar nicht gemeint sein, entscheidet die Mutter, als sie
ibre Tochter aus der Schule abholt: "D bist Deutsche.” IDabei ist das Madchen von einem
grofleren Schiiler nicht nur “Kellerkind” genannt worden, sondern es hat noch ein anderes
Wort gehort, “das auch mit K begann, ein anderes”, kurz vor dem StoB in den Riicken, nach
dem es auf dem Schulhof liegenblieb, allein, bis es gefunden wurde.

Selbst die beste Freundin hat keinen Blick fiur das. was die Exrzihlerin hindert und hemmt.
Fiur Sophia besteht der Heimatort aus dem Reitstall in dem sie voltigierte, und dem
Turnverein, in dem sie Ballett tanzte, und aus den schénen Straflen mit den
Einfamilienhausern. Industrieschnee markiert die Grenzen des Orts, eine feine Saure liegt

in der Luft, und hinter der Werksbricke rauschen die Fertigungshallen. wo der Vater

tagein, tagaus Aluminiumbleche beizt. Hier ist die Ich-Erzahlerin aufgewachsen, hierher
kommt sie zuriick, als ihre Kindheitsfreunde heiraten Und wihrend sie die alten Wege geht,
erinnert sie sich: an den Vater und den erblindeten Grolfivater, die kaum sprachen An die
Mutter, deren Freiheitsdrang in der Enge einer westdeutschen Arbeiterwohnung erstickte,
ehe sie in einem kurzen Aufbegehren die Koffer packte und die Tochter beim trinkenden
Vater lieB. An den frihen Schulabbruch und die Anstrengung, im zweiten Anlauf
Versaumtes nachzuholen, an die Scham und die Angst — zuerst davor, nicht zu bestehen,
dann davor, als Aufsteigerin auf ihren Platz zurtickverwiesen zu werden.

Welche Anordnung ist richtig?

6y
@
3
@

Schulabbruch, Industrieschnee, Hemmungen, Freiheitsdrang
Hemmungen, Industrieschnee, Freiheitsdrang, Schulabbruch
Industrieschnee, Hemmungen, Freiheitsdrang, Schulabbruch
Freiheitsdrang, Industrieschnee, Hemmungen, Schulabbruch

[Question ID = 1028][Question Description = Q34_German_SHAAN_NOV20]
1. 1 [Optien ID = 4109]
2. 2 [Optien ID = 4110]
3. 3 [Option ID = 4111]
4. 4 [Option ID = 4112]

3)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.
Deniz Ohde “Streulicht” (2020)

Die Schulkrankenschwester hatte es einen Unfall genannt. Sie sei ja auch etwas schmachtig,
hatte die Lehrerin erganzt. Sie konne gar nicht gemeint sein, entscheidet die Mutter, als sie
ihre Tochter aus der Schule abholt: “Du bist Deutsche.” Dabei ist das Madchen von einem
groferen Schiiler nicht nur “Kellerkind™ genannt worden, sondern es hat noch ein anderes

Wort gehort, “das auch mit K begann, ein anderes™. kurz vor dem 5StoB in den Ricken, nach
dem es auf dem Schulhof liegenblieb. allein, bis es gefunden wurde.

Selbst die beste Freundin hat keinen Blick fur das, was die Erzahlerin hindert und hemmt.
Fiar Sophia besteht der Heimatort aus dem Reitstall, in dem sie wvoltigierte, und dem

™ T1 .. [ o e -
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Einfamilienhiusern. Industrieschnee markiert die Grenzen des Orts. eine feine Siure liegt
in der Luft, und hinter der Werksbriicke rauschen die Fertigungshallen, wo der Vater
tagein, tagaus Aluminiumbleche beizt. Hier ist die Ich-Erzihlerin aufgewsachsen, hierher
kommt sie zuriick, als ihre Kindheitsfreunde heiraten. Und wiahrend sie die alten Wege geht,
erinnert sie sich: an den Vater und den erblindeten GrofBvater, die kaum sprachen. An die
Mutter, deren Freiheitsdrang in der Enge einer westdeutschen Arbeiterwohnung erstickte,
ehe sie in einem kurzen Aufbegehren die Koffer packte und die Tochter beim trinkenden
Vater lieB. An den frihen Schulabbruch und die Anstrengung, im zweiten Anlauf
Versidumtes nachzuholen, an die Scham und die Angst — zuerst davor, nicht zu bestehen,
dann davor, als Aufsteigerin auf ihren Platz zuriickverwiesen zu werden.

Lesen Sie die Aussagen X (Behauptung) und Y (Begriindung).

b,

¥

Sophia hatte immer viel Verstindnis fiir das Leben ihrer Freundin

Sie hatte eine vergniigte Kindheit.

Welche der nachstehenden Aussagen ist richtig?

8y
2
3
“)

X und Y sind beide richtig und Y ist die Erklarung fur X

X und Y sind beide richtig, aber Y ist nicht die Erklarung fur X
X ist richtig aber Y ist falsch

X ist falsch aber Y ist richtig

[Question ID = 1029][Question Description = Q35_German_SHAAN_NOV20]
1 [Option ID = 4113]
2. 2 [Option ID = 4114]
3. 3 [Option ID = 4115]
4. 4 [Option ID = 4116]

T

Topic:- 44German_C
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1)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.
Thomas Hettche “Herzfaden™ (2020)

“Herzfaden  erzahlt die Geschichte der Augshurger Puppenkiste als Mentalitatsportrat der
Bundesrepublik.

Walter Oehmichen wird 19435 aus der Kriegsgefangenschaft entlassen und baut im
zerstorten Augshburg sein Marionettentheater auf. "Wir miissen", sagt er, "die Herzen der
Jugend erreichen, die von den Nazis verdorben wurden. Und die Faden, mit der wir sie
wieder an die Kultur ankniipfen, das sind die Faden meiner Marionetten."

Die Puppen, die Walter und dann seine Tochter Hatii schnitzen — die Mutter niht die
Kostiime — haben eine Doppelfunktion. Als Hatii ihre erste Marionette schnitzt. ist es ein
Kasperl — die Augen sind noch tot, aber ein breites Lachen hat er schon. "Doch je linger sie
ithn betrachtet, um so mehr beginnt sie sich vor ihm zu furchten.” Sie hat thm unbewusst die
Zige einer antisemitischen Juden-Karikatur verliechen — so ist der Kasperl Symbol der
Indoktrination durch eine hiissliche Ideologie und des Schuldgefiihls.

Auf der Handlungsebene erzahlt Hettche von der Familie Oehmichen, angefangen an jenem
Tag. an dem Walter Ochmichen, Oberspiclleiter des Augsburger Stadttheaters, im Herbst
1939 seinen Emnberufungsbefehl zur Wehrmacht erhalt, bis in die frithen 1960er-Jahre
hinein, als seine Tochter Hatu, das Puppentheater bereits vom Vater iibernommen hat.

Auf einer zweiten, im Druckbild auch farblich abgesetzten Erzahlebene gerat ein
zwiolfjihriges Midchen nach einer Vorstellung der Augsburger Puppenkiste durch eine
verborgene Tur auf einen miarchenhaften Dachboden, auf dem viele Freunde warten: die
Prinzessin Li Si, Kater Mikesch, Lukas, der Lokomotiviuhrer. Auch die 2003 verstorbene
Hatii, die all diese Marionetten geschnitzt hat, ersteht in diesem Zwischenreich noch einmal
von den Toten auf. um dem Midchen ihre Geschichte zu erziihlen.
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Der Roman erzahlt ...
(1) von der Mentalitat der Bundesburger
(2) von der Rarikierung der Juden durch die Nazis
(3) von dem Eigenleben der Marionetten
(4) von einem bekannten Marionettentheater

[Question ID = 1030][Question Description = Q36_German_SHAAN_NOV20]
1. 1 [Option ID = 4117]
2. 2 [Option ID = 4118]
3. 3 [Option ID = 4119]
4. 4 [Option ID = 4120]

Z)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.
Thomas Hettche “Herzfaden™ (2020)

“Herzfaden  erzahlt die Geschichte der Augshurger Puppenkiste als Mentalitatsportrat der
Bundesrepublik.

Walter Oehmichen wird 19435 aus der Kriegsgefangenschaft entlassen und baut im
zerstdrten Augshburg sein Marionettentheater auf. "Wir miissen", sagt er, "die Herzen der
Jugend erreichen, die von den Nazis verdorben wurden. Und die Faden, mit der wir sie
wieder an die Kultur ankniipfen, das sind die Faden meiner Marionetten."

Die Puppen, die Walter und dann seine Tochter Hatii schnitzen — die Mutter niht die
Kostiime — haben eine Doppelfunktion Als Hatii ihre erste Marionette schnitzt. ist es ein
Kasperl — die Augen sind noch tot, aber ein breites Lachen hat er schon. "Doch je linger sie
ithn betrachtet, um so mehr beginnt sie sich vor ihm zu furchten.” Sie hat thm unbewusst die
Zige einer antisemitischen Juden-Karikatur verliechen — so ist der Kasperl Symbol der
Indoktrination durch eine hiissliche Ideologie und des Schuldgefiihls.

Auf der Handlungsebene erzahlt Hettche von der Familie Oehmichen, angefangen an jenem
Tag. an dem Walter Ochmichen, Oberspielleiter des Augsburger Stadttheaters, im Herbst
1939 seinen Einberufungsbefehl zur Wehrmacht erhalt. bis in die frithen 1960er-Jahre
hinein, als seine Tochter Hatu, das Puppentheater bereits vom Vater iibernommen hat.

Auf einer zweiten, im Druckbild auch farblich abgesetzten FErzahlebene gerat ein
zwolfjihriges Midchen nach einer Vorstellung der Augsburger Puppenkiste durch eine
verborgene Tur auf einen marchenhaften Dachboden, auf dem viele Freunde warten: die
Prinzessin Li Si, Kater Mikesch, Lukas, der Lokomotiviuhrer. Auch die 2003 verstorbene
Hatii, die all diese Marionetten geschnitzt hat, ersteht in diesem Zwischenreich noch einmal
von den Toten auf. um dem Midchen ihre Geschichte zu erzihlen.

Im Roman werden zwei Welten gegeneinander dargestellt, ...

A

B.

C.

D.

die Welt der Freunde und die der Feinde.
die Welt der Marionetten und die reale Welt.
die Welt der Jugend und die der Erwachsenen.

die Welt der Verfihrung und die der Befreiung.

Wihlen Sie die richtige Antwort aus.

D
6)

A&B 2 B&C
B&D 4 A&C

[Question ID = 1031][Question Description = Q37_German_SHAAN_NOV20]
1. 1 [Option ID = 4121]
| 2. 2 [Option ID = 4122]
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| 3. 3 [Option ID = 4123]
4. 4 [Option ID = 4124]

3)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.
Thomas Hettche “Herzfaden™ (2020)

“Herzfaden  erzahlt die Geschichte der Augsbhurger Puppenkiste als Mentalitatsportrat der
Bundesrepublik.

Walter Ochmichen wird 1845 aus der Kriegsgefangenschaft entlassen und baut im
zerstorten Augshburg sein Marionettentheater auf. "Wir miissen", sagt er, "die Herzen der
Jugend erreichen, die von den Nazis verdorben wurden. Und die Faden, mit der wir sie
wieder an die Kultur ankniipfen, das sind die Faden meiner Marionetten."

Die Puppen, die Walter und dann seine Tochter Hatii schnitzen — die Mutter niht die
Kostiime — haben eine Doppelfunktion. Als Hatii ihre erste Marionette schnitzt. ist es ein
Kasperl — die Augen sind noch tot, aber ein breites Lachen hat er schon. "Doch je linger sie
ithn betrachtet, um so mehr beginnt sie sich vor ihm zu furchten.” Sie hat thm unbewusst die
Zige einer antisemitischen Juden-Karikatur verliechen — so ist der Kasperl Symbol der
Indoktrination durch eine hiissliche Ideologie und des Schuldgefiihls.

Auf der Handlungsebene erzahlt Hettche von der Familie Oehmichen, angefangen an jenem
Tag. an dem Walter Ochmichen, Oberspiclleiter des Augsburger Stadttheaters, im Herbst
1939 seinen Emnberufungsbefehl zur Wehrmacht erhalt. bis in die frithen 1960er-Jahre
hinein, als seine Tochter Hatu, das Puppentheater bereits vom Vater iibernommen hat.

Auf einer zweiten, im Druckbild auch farblich abgesetzten Erzahlebene gerat ein
zwiolfjihriges Midchen nach einer Vorstellung der Augsburger Puppenkiste durch eine
verborgene Tur auf einen miarchenhaften Dachboden, auf dem viele Freunde warten: die
Prinzessin Li Si, Kater Mikesch, Lukas, der Lokomotiviuhrer. Auch die 2003 verstorbene
Hatii, die all diese Marionetten geschnitzt hat, ersteht in diesem Zwischenreich noch einmal
von den Toten auf. um dem Midchen ihre Geschichte zu erziihlen.

Lesen Sie die Listen [ und 1T

Liste I Liste IT

zweifarbig Vater

Regisseur Druckbild

I
11
verderben III. Puppe

STa[ 8

Lokomotivfithrer [IV. indoktrinieren

Welche der folgenden Kombinationen ist richtig?

ey
2)
(3)
(4)

A-L BII, C-HI D-IV
A-III B-II, C-I, D-IV
Al B-I C-IV. D-I0
A-IV, B-IIL. C-1I. DI

[Question ID = 1032][Question Description = Q38_German_SHAAN_NOV20]
1. 1 [Option ID = 4125]
2. 2 [Option ID = 4126]
3. 3 [Option ID = 4127]
4. 4 [Option ID = 4128]

4)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.

Thomas Hettche “Herzfaden™ (2020)

“Herzfaden™ erzahlt die Geschichte der Augsbhurger Puppenkiste als Mentalitatsportrat der
Bundesrepublik.

Walter Oehmichen wird 19435 aus der Kriegsgefangenschaft entlassen und baut im
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zerstorten Augsburg sein Marionettentheater aut. "Wir miissen”. sagt er, "die Herzen der
Jugend erreichen, die von den Nazis verdorben wurden. Und die Faden, mit der wir sie
wieder an die Kultur ankniipfen, das sind die Faden meiner Marionetten."

Die Puppen, die Walter und dann seine Tochter Hatii schnitzen — die Mutter niht die
Kostiime — haben eine Doppelfunktion Als Hatii ihre erste Marionette schnitzt. ist es ein
Kasperl — die Augen sind noch tot, aber ein breites Lachen hat er schon. "Doch je linger sie
ihn betrachtet, um so mehr beginnt sie sich vor ihm zu furchten.” Sie hat thm unbewusst die
Zige einer antisemitischen Juden-Karikatur verliechen — so ist der Kasperl Symbol der
Indoktrination durch eine hiissliche Ideologie und des Schuldgefiihls.

Auf der Handlungsebene erzahlt Hettche von der Familie Oehmichen, angefangen an jenem
Tag. an dem Walter Ochmichen, Oberspielleiter des Augsburger Stadttheaters. im Herbst
1939 seinen Einberufungsbefehl zur Wehrmacht erhalt, bis in die frithen 1960er-Jahre
hinein, als seine Tochter Hatu, das Puppentheater bereits vom Vater iibernommen hat.

Auf einer zweiten, im Druckbild auch farblich abgesetzten FErzahlebene gerat ein
zwiolfjihriges Midchen nach einer Vorstellung der Augsburger Puppenkiste durch eine
verborgene Tur auf einen marchenhaften Dachboden, auf dem viele Freunde warten: die
Prinzessin Li Si, Kater Mikesch, Lukas, der Lokomotiviuhrer. Auch die 2003 verstorbene
Hatii, die all diese Marionetten geschnitzt hat, ersteht in diesem Zwischenreich noch einmal
von den Toten auf, um dem Midchen ihre Geschichte zu erziihlen.

Welche Anordnung ist richtig?

4y
@
&)
@

Naharbeit, Faden, Vorstellung. Schnitzarbeit
Faden, Vorstellung, Schnitzarbeit, Naharbeit
Schnitzarbeit, Naharbeit, Faden Vorstellung
Vorstellung. Schnitzarbeit, Naharbeit, Faden

[Question ID = 1033][Question Description = Q39_German_SHAAN_NOV20]
1. 1 [Option ID = 4129]
2. 2 [Option ID = 4130]
3. 3 [Option ID = 4131]
4, 4 [Option ID = 4132]

3)

Lesen Sie den folgenden Text und beantworten Sie die nachstehenden Fragen.

Thomas Hettche “Herzfaden™ (2020)

“Herzfaden  erzahlt die Geschichte der Augshurger Puppenkiste als Mentalitatsportrat der
Bundesrepublik.

Walter Oehmichen wird 19435 aus der Kriegsgefangenschaft entlassen und baut im
zerstdrten Augshurg sein Marionettentheater auf. "Wir miissen", sagt er, "die Herzen der
Jugend erreichen, die von den Nazis verdorben wurden. Und die Faden, mit der wir sie
wieder an die Kultur ankniipfen, das sind die Faden meiner Marionetten."

Die Puppen, die Walter und dann seine Tochter Hatii schnitzen — die Mutter niht die
Kostiime — haben eine Doppelfunktion. Als Hatii ihre erste Marionette schnitzt. ist es ein
Kasperl — die Augen sind noch tot, aber ein breites Lachen hat er schon. "Doch je linger sie
ithn betrachtet, um so mehr beginnt sie sich vor thm zu furchten.” Sie hat thm unbewusst die
Zige einer antisemitischen Juden-Karikatur verliechen — so ist der Kasperl Symbol der
Indoktrination durch eine hiissliche Ideologie und des Schuldgefiihls.

Auf der Handlungsebene erzahlt Hettche von der Familie Oehmichen, angefangen an jenem
Tag. an dem Walter Ochmichen, Oberspielleiter des Augsburger Stadttheaters, im Herbst
1939 seinen Einberufungsbefehl zur Wehrmacht erhalt. bis in die frithen 1960er-Jahre
hinein, als seine Tochter Hatu, das Puppentheater bereits vom Vater iibernommen hat.

Auf einer zweiten, im Druckbild auch farblich abgesetzten FErzahlebene gerat ein
zwiolfjihriges Midchen nach einer Vorstellung der Augsburger Puppenkiste durch eine
verborgene Tur auf einen marchenhaften Dachboden, auf dem viele Freunde warten: die
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Frinzes=in la dl, Kater Bﬂ'llKESCh, LUE&E, der lLokomotiviahrer. Auch die Z2UU3 verstorbene
Hatii, die all diese Marionetten geschnitzt hat, ersteht in diesem Zwischenreich noch einmal
von den Toten auf, um dem Midchen ihre Geschichte zu erzihlen.

Lesen Sie die Aussagen X (Behauptung) und Y (Begriindung).
X : Eine auferstandene Frau redet von ihren Erfahrungen.
Y : Indem Zwischenreich passieren fantastische Dinge.

Welche der nachstehenden Aussagen ist richtig?

(1) X und Y sind beide richtig und Y ist die Erklarung fiar X

2) X und Y sind beide richtig, aber Y ist nicht die Erklarung fur X
(3) X ist richtig aber Y ist falsch

(4) X ist falsch aber Y ist richtig

[Question ID = 1034][Question Description = Q40_German_SHAAN_NOV20]
1. 1 [Option ID = 4133]
2. 2 [Option ID = 4134]
3. 3 [Option ID = 4135]
4, 4 [Option ID = 4136]

Topic:- 44German_D
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1)
“Zaartick zur Natur!” ist der Ruf von

(1) Johann Gottfried Herder (2) Jakob Michael Reinhold Lenz
(3) Johann Wolfgang von Goethe (4) dJean-Jacques Rousseau

[Question ID = 1035][Question Description = Q41_German_SHAAN_NOV20]
. 1 [Option ID = 4137]
2 [Option ID = 4138]
3 [Option ID = 4139]
. 4 [Optien ID = 4140]

T e

2)
Welches ist kein Werk von Heinrich von Kleist?

(1) Amphitryon (2) Penthesilea
(3) Das Kithehen von Heilbronn (4) Agnes Bernauer

[Question ID = 1036][Question Description = Q42_German_SHAAN_NOV20]
1. 1 [Option ID = 4141]
2. 2 [Option ID = 4142]
3. 3 [Option ID = 4143]
4. 4 [Option ID = 4144]

3)
M:if3 Sara Sampson ist ein Trauerspiel von
(1) Lenz (2) Lessing
(3) Klinger @ Kleist

[Question ID = 1037][Question Description = Q43_German_SHAAN_NOV20]
1. 1 [Optien ID = 4145]
2. 2 [Option ID = 4146]
3. 3 [Option ID = 4147]
4. 4 [Option ID = 4148]

4)
ist kein Turn der Culture Studies.

(1) Iconic Turn (2) Digital Turn
(3) Linguistic Turn (4) Spatial Turn
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[Question ID = 1038][Question Description = Q44_German_SHAAN_NOV20]
1. 1 [Option ID = 4149]
2. 2 [Option ID = 4150]
3. 3 [Option ID = 4151]
4, 4 [Option ID = 4152]

3)
“Golden wehn die Tone nieder” ist::
(1) Hyperbel (2) Oxymoron
(3) Synasthesie (4) Personifikation

[Question ID = 1039][Question Description = Q45_German_SHAAN_NOV20]
1. 1 [Option ID = 4153]
2. 2 [Option ID = 4154]
3. 3 [Optien ID = 4155]
4. 4 [Option ID = 4156]

6)
Welche Form gilt als keine Gattungsart der Lyrik?

(1) Rondeau (2) Madrigal
(3) Elegie (4} Operette

[Question ID = 1040][Question Description = Q46_German_SHAAN_NOV20]
1. 1 [Option ID = 4157]
2. 2 [Option ID = 4158
3. 3 [Option ID = 4159
4. 4 [Option ID = 4160]

7)
Beim Spracherlernen benétigt man zu berticksichtigen.
(1) digitale Medien (2) moralische Bildung
(3) kulturelle Aspekte (4) pedagogische Theorien

[Question ID = 1041][Question Description = Q47 _German_SHAAN_NOV20]
1. 1 [Option ID = 4161]

2. 2 [Option ID = 4162]

3. 3 [Option ID = 4163]

4. 4 [Option ID = 4164]

8)

Zur “inhaltlichen Vorentlastung™ fur das Leseverstehen braucht man:

(1) Information zum Thema zu sammeln

(2) Eine Zusammenfassung des Textes zu schreiben
(3) Bestimmte Information im Text zu finden

4 Abschnitte des Originaltextes zu ordnen

[Question ID = 1042][Question Description = Q48_German_SHAAN_NOV20]
1. 1 [Option ID = 4165]
2. 2 [Option ID = 4166]
3. 3 [Option ID = 4167]
4, 4 [Option ID = 4168]

?)

Fur den Begriff des Tragischen ist das folgende notwendig:

(1) Steigerung des mimischen Theaters
(2) Versohnung am Ende des Schauspiels
(3) die unbedingte Ausweglosigkeit tragischen Geschehens

(4) ein individuelles Dasein aus dem Birgertum
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[Question ID = 1043][Question Description = Q49_German_SHAAN_NOV20]
1, 1 [Option ID = 4169]
2. 2 [Option ID = 4170]
3. 3 [Option ID = 4171]
4. 4 [Option ID = 4172]

10)
Ein Beispiel far Chiasmus ist:
(1) Ach geh nicht weg, ach bleib doch hier
(2) Die Kunst ist lang und kurz ist unser Leben
(3) Nicht chne Verwirrung, nicht gerade ein Held
(4) Liugen haben kurze Beine

[Question ID = 1044][Question Description = Q50_German_SHAAN_NOV20]
1. 1 [Optien ID = 4173]
2. 2 [Option ID = 4174]
3. 3 [Option ID = 4175]
4. 4 [Option ID = 4176]

11)

Als Exponenten der feministischen Literaturtheorie gelten:

A

B.

C.

D.

Simone de Beauvoir
Kate Winslet
Luce Irigaray

Edith Stein

Wihlen Sie die richtige Antwort aus.

0y
@)
3
4@

A&B
A&C

B&C
C&D

[Question ID = 1045][Question Description = Q31_German_SHAAN_NOV20]
1. 1 [Option ID = 4177]
2. 2 [Option ID = 4178]
3. 3 [Option ID = 4179]
4, 4 [Option ID = 4180]

= In der deutschen Dichtung gelten als Versfull.
A Trochius & Jambus
B. Kretikus & Tonikus
C. Kaktus und Spondeus
D. Daktylus und Anapast

Wihlen Sie die richtige Antwort aus.

D
@)
6)
@

A&D

A&B
B&C
C&D

[Question ID = 1046][Question Description = Q52_German_SHAAN_NOV20]
1. 1 [Option ID = 4181]
2. 2 [Option ID = 4182]
3. 3 [Option ID = 4183)]
4, 4 [Option ID = 4184]

13)

T
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[Question ID = 1047][Question Description = Q53_German_SHAAN_NOV20]

LI AwWel IFEITE el VULL 2 CITIREET SITEN

D.

Der Gott und die Bojadere
Ihe Kraniche des Ibykus
Der Ring des Polykrates

Der Fischer

Wiihlen Sie die richtige Antwort aus.

(1
(3

A&B
C&D

1. 1 [Option ID = 4185]
2. 2 [Option ID = 4186]
3. 3 [Option ID = 4187]
4. 4 [Option ID = 4188]

14)

[Question ID = 1048][Question Description = Q54 _German_SHAAN_NOV20]
. 1 [Option ID = 4189]
2 [Option ID = 4190]
. 3 [Option ID = 4191]
. 4 [Option ID = 4192]

e ld B

15)

[Question ID = 1049][Question Description = Q55_German_SHAAN_NOV20]

@2 B&C
4 A&D

Zum globalen Verstehen eines Textes gehéren:

A

B.

C.
D.

Den ganzen Text ochne ein Worterbuch zu lesen.

Schlisselworter zu besprechen.

Zu jedem Abschnitt ein bis zwei Satze aufschreiben.

Inhalt in einer Gedankenkarte ordnen.

Wihlen Sie die richtige Antwort aus.

D
3

A&B
B&C

Als Dichotomien von Saussure gelten:

A Synchronie

B. Syntax

C. Paradigmata

D. Diachronie

Wahlen Sie die richtige Antwort aus.

0y
3)

A&B
A&D

1. 1 [Option ID = 4193]
2. 2 [Option ID = 4194]
3. 3 [Option ID = 4195]
4. 4 [Option ID = 4196]

16)

2 C&D
4 A&D

2 A&C
4 B&C

Lesen Sie die Listen I und 11 :
Liste I Liste IT
A Kant 1. Dialektik
B. Hegel II. Existenz
C. Marx III. Kategorischer Imperativ
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oWk B

‘"' B M IV. Historischer Materialismus

Welche der folgenden Kombinationen ist richtig?
(1) ATV, BI CHLD-III
(2) A, B-1, C-1IV, D-II
3) ATIL BII CI DIV
4) A-lI B-II C-IvV, D-II1

[Question ID = 1050][Question Description = Q56_German_SHAAN_NOV20]

1 [Option ID = 4197]
. 2 [Option ID = 4198]
. 3 [Option ID = 4199]
4 [Option ID = 4200]
17)
Lesen Sie die Listen I und II.
Liste I Liste IT
A Strukturalismus I. Spiegelbild
B. Psychoanalyse II. Différance
C. Diskursanlyse II. Zeichen
D. Dekonstruktion IV. Ordnung

Welche der folgenden Kombinationen ist richtig?

(1) AILBIL CII DIV
@  AJIIL BIIL C-IV, DI
(3) AT BLCIV,DII
@)  AJTL B, C-L DIV

[Question ID = 1051][Question Description = Q57_German_SHAAN_NOV20]

1.

1 [Option ID = 4201]

2. 2 [Option ID = 4202]
3. 3 [Option ID = 4203]
4. 4 [Option ID = 4204]

18)
Welche Anordnung ist richtig?

(1) Fontane — Kleist — Kafka — Brecht
(2) Kleist — Fontane — Kafka — Brecht
(3) Kleist — Brecht — Fontane — Kafka
4) Kafka — Kleist — Brecht — Fontane

[Question ID = 1052][Question Description = Q58_German_SHAAN_NOV20]

1

. 1 [Option ID = 4205]

2. 2 [Option ID = 4206]

3

. 3 [Option ID = 4207

4. 4 [Option ID = 4208

19)

Welche Anordnung ist richtig?

(1) Episches Theater — Tragédie — Slam Poetry — Novelle
(2) Tragodie — Episches Theater — Novelle — Slam Poetry
(3) Tragodie — Novelle — Episches Theater — Slam Poetry
(4) Episches Theater — Tragodie — Novelle — Slam Poetry

[Question ID = 1053][Question Description = Q59_German_SHAAN_NOV20]

o e =

. 1 [Option ID = 4209]
2 [Option ID = 4210]
. 3 [Option ID = 4211]
. 4 [Option ID = 4212]
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20)
Welche Anordnung ist richtig?

(1) Fragen stellen — Ubersicht verschaffen — Genaues Lesen - Zusammenfassen
(2) Zusammenfassen — Ubersicht verschaffen — Genaues Lesen — Fragen stellen
(3) Genaues Lesen — Ubersicht verschaffen — Fragen stellen — Zusammenfassen

(4) Ubersicht verschaffen — Fragen stellen — Genaues Lesen — Zusammenfassen

[Question ID = 1054][Question Description = Q60_German_SHAAN_NOV20]
1. 1 [Option ID = 4213]
2. 2 [Option ID = 4214]
3. 3 [Option ID = 4215]
4. 4 [Option ID = 4216]

21)
Was war das Hauptmerkmal der Epoche Barock™
(1) Humanitatsideal
(2) Radikale Ablehnung der Wirklichkeit
(3) Der Absolutismus, die Kirche und die Tradition der Antike
(4) Gegen die Zensur und fiur die Pressefreiheit

[Question ID = 1055][Question Description = Q61_German_SHAAN_NOV20]
1. 1 [Option ID = 4217]
2. 2 [Option ID = 4218]
3. 3 [Option ID = 4219]
4. 4 [Option ID = 4220]

22)
Was waren die literarischen Zweckformen der Epoche . Junges Deutschland und Vormarz™
(1) Autobiographien
(2) Rezensionen

(3) Konkrete Poesie

(4) Reiseberichte, Memoiren, Flugblatter, journalistische Texte

[Question ID = 1056][Question Description = Q62_German_SHAAN_NOV20]
1. 1 [Option ID = 4221]

2. 2 [Option ID = 4222]

3. 3 [Option ID = 4223]

4. 4 [Option ID = 4224]

23)

Der rote Faden dieses Romans ist ... (Welche ist die richtige Ubersetzung?)

1 The red thread of this novel is...

(2)  The core thought in this novel is___

(3) The red carpet is the main theme in this novel._.
4) This Roman wears a red thread...

[Question ID = 1057][Question Description = Q63_German_SHAAN_NOV20]
1. 1 [Option ID = 4225]
2. 2 [Option ID = 4226]
3. 3 [Option ID = 4227]
4, 4 [Option ID = 4228)

24)
Wihrend der Covid-19 Pandemie darf man ins Ausland nicht reisen. (Welche ist die richtige

Ubersetzung?)

P Y ™ - a1 ~ =1 10 1 E P T i~
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WS

(2)
(3)
4)

A AL LR VA WP VAT L R WUTLIEL Y WA WARALL 1LY VLA VL VW LUL TR WAL L

During the Covid-12 pandemiec, one is not allowed to travel abroad
During the Covid-19 pandemic, one may not travel within a foreign country

During the Covid-19 pandemie, a man is not allowed to travel abroad

[Question ID = 1058][Question Description = Q64_German_SHAAN_NOV20]
1. 1 [Optien ID = 4229]
2. 2 [Option ID = 4230]
3. 3 [Option ID = 4231]
4. 4 [Option ID = 4232]

25)

Das Wort , Biedermeier” ist Synonym fix

@
@)
3
(4

Futurismus
Hauslichkeit
Fernweh

einen politischen Menschen

[Question ID = 1059][Question Description = Q65_German_SHAAN_NOV20]

. 1 [Option ID = 4233]
2 [Option ID = 4234]
3 [Option ID = 4235]
. 4 [Option ID = 4236]

Was bildet den unmittelbaren Hintergrund fur die Epoche des . Poetischen Realismus™?

1

2.

3.

4

26)

(D
2)
(3)
(4)

Revolutionare Jugendbewegung gegen die Aufklarung
Der erste Weltkrieg

Der siebenjihrige Krieg

Aufschwung des Industriekapitalismus

[Question ID = 1060][Question Description = Q66_German_SHAAN_NOV20]
1. 1 [Option ID = 4237]
2. 2 [Option ID = 4238)
3, 3 [Option ID = 4239]
4, 4 [Option ID = 4240]

27)

Ubersetzungsverfahren brauchen unbedingt Ubertragungsspielraume, denn. ..

@
@)
3
€

Ubersetzungen brauchen Spielregeln

Ubersetzungen miussen flexibel sein

Ubersetzungsverfahren sind Verfahren der differenzbewussten Grenziiberschreitung
Ubersetzungsverfahren miissen oft geindert werden

[Question ID = 1061][Question Description = Q67 _German_SHAAN_NOV20]
1. 1 [Option ID = 4241]
2. 2 [Option ID = 4242]
3. 3 [Option ID = 4243]
4. 4 [Option ID = 4244)

28)

Worauf bezieht sich der Begriff “Translational Turm™?

oy
@

(3)
@

Auf ein Organisationsprinzip fur die Entwicklung des kulturwissenschaftlichen
Diskurses

Auf ein Organisationsprinzip fir die Beziehung zwischen den Kulturwissenschaften
und der Ubersetzer

Auf ein Organisationsprinzip fur die Entwicklung der Sprachwissenschaften
Auf ein Organisationsprinzip fir die Entwicklung der Literaturwissenschaft
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[Question ID = 1062][Question Description = Q68_German_SHAAN_NOV20]
1. 1 [Optien ID = 4245]
2. 2 [Option ID = 4246]
3. 3 [Option ID = 4247]
4. 4 [Option ID = 4248]

29)

Ein Ubersetzer braucht neben der Sprachkompetenz auch eine translatorische
Kulturkompetenz™ Was bedeutet dieser Satz?

@)
(2)
(3)

@)

Der Ubersetzer muss alle Feste der beiden Kulturen kennen
Der Ubersetzer muss in den beiden Kulturen gelebt haben

Der Ubersetzer muss die Kulturen der Ausgangssprache und der Zielsprache sehr
gut kennen

Es gibt bei den Ubersetzungsverfahren Differenzen nicht nur zwischen Original und
Ubersetzung. sondern auch zwischen verschiedenen Kulturen und Symbolsystemen.
Der Ubersetzer muss sich dessen bewusst sein

[Question ID = 1063][Question Description = Q69_German_SHAAN_NOV20]
1. 1 [Option ID = 4249]
2. 2 [Option ID = 4250]
3. 3 [Option ID = 4251]
4, 4 [Option ID = 4252]

30)

Man kann von einer produktiven Literaturgeschichte sprechen, wenn....

@)
)
(3)

(4)

die Studenten der Germanistik die Literaturgeschichte lesen

die Literaturgeschichte auf die Schriftsteller als Provokation wirkt

die Literaturwissenschaftler sich mit der Literaturgeschichte saus einer

rezeptionsisthetischen Perspektive auseinandersetzen wund kritische Beitrige
schreiben

es immer mehr Lehrbiicher iiber das Fach Literaturgeschichte gibt

[Question ID = 1064][Question Description = Q70_German_SHAAN_NOV20]

1.
2.
e
4. 4

31)

1 [Option ID = 4253]
2 [Option ID = 4254

]
[Option ID = 4255]
[Option ID = 4256]

Welche der folgenden Begriffe sind dem Bereich Literaturgeschichte zuzuordnen?

A

B.

D.

Berichterstattung uber die Chronologie der Epochen
Literarische Texte iber die Geschichie eines Landes

Auseinandersetzung mit den Informationen iiber das L.eben und Werk verschiedener
Autoren

Komparatistischer Uberblick iiber die nationale bzw. internationale Literatur

Wihlen Sie die ﬂchtige Antwort aus.

@)
@)
3
@)

A CundD
Aund B
Bund D
B.Cund A

[Question ID = 1065][Question Description = Q71_German_SHAAN_NOV20]
1. 1 [Optien ID = 4257]
2. 2 [Option ID = 4258]
3. 3 [Optien ID = 4259]
4. 4 [Option ID = 4260]

32)

TIT.1 1

1 r1 1 1.+ o 1 ™ o . T 4 - ™= n r o1 T
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“Expressionismus !

A

B.

Der erste Weltkrieg
Die Weimarer Republik
Die Teilung Deutschlands

Die Beseitigung der Monarchie in Deutschland

Wahlen Sie die richtige Antwort aus.

(D
@
3
4

Aund C
BundC
CundD
A BundD

[Question ID = 1066][Question Description = Q72_German_SHAAN_NOV20]
1. 1 [Option ID = 4261]
2. 2 [Option ID = 4262)
3. 3 [Option ID = 4263]
4, 4 [Option ID = 4264)

33)

Welche der folgenden Merkmale kann man der Bezeichnung “Neue Sachlichkeit” zuordnen?

A

Fs war eine Stilbezeichnung fiir die Malerei und Literatur in den 1920er Jahren des
20. Jahrhunderts.

Die Autoren dieser Bewegung legten Wert auf eine objektive Darstellung der sozialen
und dkonomischen Wirklichkeit.

Arbeit, Arbeitslosigkeit und das leben in einer GrofBstadt waren populire Themen
dieser Bewegung.

Das waren alle Sachtexte fiir die deutsche Industrie der 1920er Jahre des 20.
Jahrhunderts.

Wihlen Sie die richtige Antwort aus.

@
@
3
4

Aund D
A BundC
CundD
B.CundD

[Question ID = 1067][Question Description = Q73_German_SHAAN_NOV20]
1. 1 [Option ID = 4265]
2. 2 [Option ID = 4266]
3. 3 [Option ID = 4267]
4, 4 [Option ID = 4268]

34)

Welche der folgenden Merkmale gehéren zur Gattung des “literarischen Expressionismus™?

A

B.

Schwankung zwischen Optimismus und Pessimismus
Depression, Dekadenz und Tod als beliebte Themen
Literarische Behauptung vom “Tod des Autors™

Thematisierung der Subjektivitat
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Wiihlen Sie die richtige Antwort aus.

1) AundC
2y A BundD
3) Bund C
4) CundD

[Question ID = 1068][Question Description = Q74_German_SHAAN_NOV20]
1. 1 [Option ID = 4269]
2. 2 [Option ID = 4270]
3. 3 [Option ID = 4271]
4, 4 [Option ID = 4272]

35) "
Welche der folgenden Punkte gehéren zu dem Ansatz “Ubersetzung als hermeneutisches

Denken™?

A Der ijgrsetzer als Individuum steht im Mittelpunkt des hermeneutischen Interesses
an der Ubersetzung.

B. Das Ubersetzen fihrt nach dem Verstehen (Rezeption) zum Formulieren des
Verstehens (Produktion).

£, Der Ubersetzer muss standig durch sein eigenes Denken und sprachliches Handeln
die dsthetische Wirkung des ganzen schaffen.

D. Der Ubersetzer muss durch sein Denken den Originaltext je nach der Zielsprache

Wihlen Sie die richtige Antwort aus.

1) A BundC (2) AundD
(3) BundD (499 A BundD

[Question ID = 1069][Question Description = Q75_German_SHAAN_NOV20]
1. 1 [Option ID = 4273]
2. 2 [Option ID = 4274]
3. 3 [Option ID = 4275]
4, 4 [Option ID = 4276]

36)
Liste I Liste I
A. Neue Sachlichkeit L 17 Jahrhundert
B. Realismus II. 18 Jahrhundert
C. Aufklarung III. 19 Jahrhundert
D. Barock IV. 20 Jahrhundert

Welche der folgenden Kombinationen ist richtig?

()  AIV,BII CIL DI
@  ALBIL C.II DIV
(3) AL BJIII C-IV, DI
4) AT BIV,CIDII

[Question ID = 1070][Question Description = Q76_German_SHAAN_NOV20]
1. 1 [Option ID = 4277]
2. 2 [Option ID = 4278
3. 3 [Option ID = 4279]
4. 4 [Option ID = 4280]

37)

Liste I Liste II
A Prometheus I. GrofB3stadtroman
B. Wilhelm Meisters Lehrjahre II. Novelle
C. Aus dem Leben eines Taugenichts [III. Mythologie
D. Berlin Alexanderplatz IV. Bildungsroman

Welche der folgenden Kombinationen ist richtig?
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D
3

AL B-II, C-III, D-IV (2 A-IV.B-1I C-II. D-1
AT, B-1IV, C.II, DI 4 AJII B-IV, C-I, D-ITI

[Question ID = 1071][Question Description = Q77_German_SHAAN_NOV20]
1. 1 [Option ID = 4281]
2. 2 [Option ID = 4282]
3. 3 [Option ID = 4283]
4. 4 [Option ID = 4284]

38)

Liste I Liste II
A, Term Base I Computerunterstiitzte Software fiur Ubersetzungen
B. CAT II. Terminologie Datenbanken
C. Output III. Glossar
D. Translation Memories [IV. Arbeitsgeschwindigkeit

Welche der folgenden Kombinationen ist richtig?

(1)
2)
3)
4)

A1, B-I. C-IV. D-II
AL B-II CII, D-IV
A-IV, B-II, C-1I, DI
A-I, B-ITT, C-II, D-IV

[Question ID = 1072][Question Description = Q78_German_SHAAN_NOV20]
1. 1 [Option ID = 4285]
2. 2 [Option ID = 4286
3. 3 [Option ID = 4287
4. 4 [Option ID = 4288]

39)
Weleche Anordnung ist richtig?
(1) Andreas Gryphius, Lessing, Schiller, Brentano
(2) Lessing, Brentano, Schiller, Andreas Gryphius
{3) Schiller, Lessing, Brentano, Andreas Gryphius
(1) Brentano, Schiller, Andreas Gryphius, Lessing

[Question ID = 1073][Question Description = Q79_German_SHAAN_NOV20]
1. 1 [Option ID = 4289]
2. 2 [Option ID = 4290]
3. 3 [Option ID = 4291]
4. 4 [Option ID = 4292)

- Welche Anordnung ist richtig?
(1)  Neue Sachlichkeit. Exilliteratur, Triimmerliteratur, DDR-Literatur
(2) DDR-Literatur, Exilliteratur, Neue Sachlichkeit. Trimmerliteratur
(3) Exilliteratur, Triummerliteratur, Neue Sachlichkeit, DDR-Literatur
(4)  Trummerliteratur, DDR-Literatur, Neue Sachlichkeit, Exilliteratur

[Question ID = 1074][Question Description = Q80_German_SHAAN_NOV20]

oW R

1 [Option ID = 4293]
2 [Option ID = 4294]
3 [Option ID = 4295]
4 [Option ID = 4296]
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41)
Vor welcher Konjunktion muss man nach der neuen Rechischreibreform nicht mehr

unbedingt ein Komma setzen?

1) weil (2) um..zu
(3) obwohl (4) wenn

[Question ID = 1075][Question Description = Q81_German_SHAAN_NOV20]
. 1 [Option ID = 4297]
2 [Option ID = 4298]
3 [Option ID = 4299]
. 4 [Optien ID = 4300]

oW R

42)
Zweisilbige Substantive, die auf e’ enden, sind meistens Feminina. Welches der folgenden ist

eine Ausnahme?

(1) Knospe (Z) Traube
(3) Glaube (4 Weide

[Question ID = 1076][Question Description = Q82_German_SHAAN_NOV20]
1. 1 [Optien ID = 4301]
2. 2 [Option ID = 4302]
3. 3 [Option ID = 4303]
4. 4 [Option ID = 4304]

43)
Was gehort nicht in die Reihe?

(1) Druck ausiben (2) zwingen
(3) notigen (4) sich drucken

[Question ID = 1077][Question Description = Q83_German_SHAAN_NOV20]
1. 1 [Option ID = 4305]
2. 2 [Option ID = 4306]
3. 3 [Option ID = 4307]
4, 4 [Option ID = 4308]

44)
Was passt nicht? ,,Grafiken...”

(1) vergrofern (2) verkleinern

(3) ausschalten (4) wverandern

[Question ID = 1078][Question Description = Q84_German_SHAAN_NOV20]
1. 1 [Option 1D = 4309]
2. 2 [Option ID = 4310]
3. 3 [Option ID = 4311]
4. 4 [Option ID = 4312]

45)
In wievielen europiischen Landern wird der Euro als offizielle Wahrung verwendet?
(1) 16 2 20
@& 19 @ 21

[Question ID = 1079][Question Description = Q85_German_SHAAN_NOV20]
1. 1 [Option ID = 4313]
2. 2 [Option ID = 4314]
3. 3 [Option ID = 4315]
4. 4 [Option ID = 4316]

46)
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Welcher der folgenden 3atze 18t talschy

(1) Das ist eine Schraube ohne Schluss
(2) Mit dem Kranken geht es zu Ende
(3) Was sind das fiir leere Worte !

4) Das geht nicht mit rechten Dingen zu

[Question ID = 1080][Question Description = Q86_German_SHAAN_NOV20]
1. 1 [Option ID = 4317]
2. 2 [Option ID = 4318]
3. 3 [Option ID = 4319]
4, 4 [Option ID = 4320]

47)
“Wer alles sehr schnell vergisst, hat ein Gedachtnis wie...”
(1) eine Grube (2) ein Sieb
3) ein Loch (4) ein Fass ohne Boden

[Question ID = 1081][Question Description = Q87_German_SHAAN_NOV20]
1. 1 [Option ID = 4321]
2. 2 [Option ID = 4322]
3. 3 [Option ID = 4323]
4. 4 [Option ID = 4324]

48)
Welche Redensart bedeutet seine Meinung deutlich sagen?

(1) vom Blatt spielen (2) ein gutes Blatt haben

(3) kein Blatt vor dem Mund nehmen (4) Das Blatt hat sich gewendet

[Question ID = 1082][Question Description = Q88_German_SHAAN_NOV20]
1. 1 [Option ID = 4325]
2. 2 [Option ID = 4326]
3. 3 [Option ID = 4327]
4. 4 [Option ID = 4328]

49)
Welches Wort gehort nicht in die Reihe?
(1) Kiefernholz (2) Eichenholz
(3) Zedernholz (4) Kerbholz

[Question ID = 1083][Question Description = Q89_German_SHAAN_NOV20]
. 1 [Option ID = 4329]
2 [Option ID = 4330]
. 3 [Optien ID = 4331]
. 4 [Option ID = 4332]

-

50)
Welches Prifix passt? Das Pferd muss neu schlagen werden.”

(1) er (2) zer
3) be (4 wver

[Question ID = 1084][Question Description = Q90_German_SHAAN_NOV20]
1. 1 [Option ID = 4333]
2. 2 [Option ID = 4334]
3. 3 [Option ID = 4335]
4, 4 [Option ID = 4336]

51)
In welchen der folgenden Satzen sind richtige Zwillingsformeln gebraucht?
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A Als Tourist kann man Land und Leute kaum kennenlernen.
B. Bei hohen Geschwindigkeit sind mir immer angst und sorge.
C. Ein solcher Gebrauch dieser Priaposition ist gang und bang.

D). Er behauptete steif und fest, dass er seine Schulden bezahlt.

Wahlen Sie von den folgenden Optionen die richtige Antwort aus :

1) A&B
@ B&C
3 C&D
4 A&D

[Question ID = 1094][Question Description = Q100_German_SHAAN_NOV20]

1.
2.
3.
4.

1 [Option ID = 4373]
2 [Option ID = 4374]
3 [Option ID = 4375]
4 [Option ID = 4376]

52)

Welche Anordnung der deutschen Stadte vom Norden nach Suden ist richtig?

(1)  Warzburg, Lubeck, Gottingen, Kiel
(?)  Lubeck, Wurzburg, Kiel, Gottingen
()  Kiel, Libeck, Gottingen, Witrzburg
(4)  Gottingen, Kiel, Warzburg, Labeck

[Question ID = 1095][Question Description = Q91_German_SHAAN_NOV20]

1
2
3.
4

. 1 [Option ID = 4377]
. 2 [Option ID = 4378]

3 [Option ID = 4379]

. 4 [Option ID = 4380

53)

Welche Anordnung ist richtig?

(1) Protest, Aufstand, Uneinigkeit. Handlungen
(2)  Aufstand, Protest, Handlungen, Uneinigkeit
(3) Handlungen, Protest, Aufstand, Uneinigkeit

(4) Uneinigkeit, Protest, Aufstand . Handlungen

[Question ID = 1096][Question Description = Q92_German_SHAAN_NOV20]

1.

1 [Option ID = 4381]

2. 2 [Option ID = 4382]
3. 3 [Option ID = 4383]
4. 4 [Option ID = 4384]

54)

Ordnen Sie Liste I zu Liste Il zu !

Liste I Liste 1T
A Steiermark I.  Hannover
B. Sachsen II. Eisenstadt
C. Burgenland IIT. Graz
D. Niedersachsen IV. Dresden

Wahlen Sie von den folgenden die richtice Option aus!
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) A-LB-ILC-TLD-IV
@ A-ILB-TNLC-IV,D-I
3 A-ILB-IV.,C-ID-I
@ A IVB-ILC HO,D-II

[Question ID = 1097][Question Description = Q93_German_SHAAN_NOV20]

1. 1 [Option ID = 4385]
2. 2 [Option ID = 4386]
3. 3 [Option ID = 4387]
4. 4 [Option ID = 4388]

» Ordnen Sie Liste I zu Liste IT zu !
Liste I Liste I
A sich kein Bein ausreillen I.  sich beeilen
B. jemandem den Kopf waschen |II. von seiner Frau beherrscht werden
C. sich ins Zeug legen TIT. sich keine grofie Mithe geben
D. unter dem Pantoffel stehen IV. energisch tadeln

1) A-LB-II.C-II.D-IV
2 A-INILB-IV,.C-LD-II
3 A-ILB-LC-IV.D-1II

4 A-IVB-ILC-ILD-1

[Question ID = 1098][Question Description = Q94_German_SHAAN_NOV20]

1. 1 [Option ID = 4389]
2. 2 [Option ID = 4390]
3. 3 [Option ID = 4391]
4. 4 [Option ID = 4392]

56)
Ordnen Sie Liste I zu Liste Il zu !

Liste I Liste I1
A. Der der radioaktiven Elemente ist mit Energieabgabe
1. Abfille
verbunden.
B. Ineinem hat der Geisteskranke das Fenster
II. Einfall
zerschlagen.
C. Die bei der Holzbearbeitung warden verbrannt. NI. Zerfall
Am Abend kam er plitzlich auf den ins Kino zu gehen. [IV. Anfall

Wahlen Sie von den folgenden Optionen die richtige Antwort aus !

1 A-LB-LC-IILD-IV
@ A-ILB-IILC-IV.D-I
@ A-IILB-IV.C-LD-1II

4@ A-IV.B-LC-IILD-III

[Question ID = 1099][Question Description = Q95_German_SHAAN_NOV20]

1. 1 [Option ID = 4393]
2. 2 [Option ID = 4394]
3. 3 [Option ID = 4395]
4. 4 [Option ID = 4396]
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57)

Welche der folgenden gehéren nicht zu den neuen Bundeslandern?

A
B.
C.

D.

Mecklenburg-Vorpommern
Berlin

Hessen

Nordrhein-Westfallen

Wihlen Sie von den folgenden Optionen die richtige Antwort aus:

D
3

A&B 2) B&C
C&D 4 A&D

[Question ID = 1100][Question Description = Q96_German_SHAAN_NOV20]
1. 1 [Option ID = 4397]
2. 2 [Option ID = 4398]
3. 3 [Option ID = 4399]
4, 4 [Option ID = 4400]

58)

In welchen der folgenden Sitzen sind falsche Verben gebraucht?

A
B.
C.

D.

Er hat meine Worte falsch abgefasst.
Kinder méchten immer alles fassen.

Das Buch umfasst mehr als 300 Seiten.

Mit einem hat der Polizist die Situation angefasst und dementsprechend gehandelt.

Wahlen Sie von den folgenden Optionen die richtige Antwort aus:

ey
)

A B&C (? B.C&D
AC&D 4 AB&D

[Question ID = 1101][Question Description = Q97_German_SHAAN_NOV20]
1. 1 [Optien ID = 4401]
2. 2 [Option ID = 4402]
3. 3 [Option ID = 4403]
4. 4 [Option ID = 4404]

59)

Welche der folgenden Aussagen stimmen nicht?

A

B.

C.

D.

Wihlen und gewihlt werden diirfen deutsche Staatsbiirger, die mindestens 18
Jahre alt sind

Bei der Bundestagswahl hat jeder Withler drei Stimmen.
Der Bundestag hat 709 Abgeordnete.

Der jetztige Bundestagsprasident Wolfgang Schauble war vor Angela Merkel
der Bundeskanzler.

Wahlen Sie von den folgenden Optionen die richtige Antwort aus:

(L)
3

A&B 2) B&C
C&D 4 B&D

[Question ID = 1102][Question Description = Q98_German_SHAAN_NOV20]
1. 1 [Option ID = 4405]
2. 2 [Option ID = 4406]
3. 3 [Option ID = 4407]
4. 4 [Option ID = 4408]

60)

Welche der folgenden Siatze sind nicht richtig?

A

R

Konnen Sie sich in meine Lage ersetzen?

Fe gelane den Trrrnmnan dia Stadt 711 hesatran

prepp
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C. Misstrauen entsetzt jede Freundschaft.

D. Der Anblick entsetzte sie so, dass sie in Ohnmacht fiel.

Wahlen Sie von den folgenden Optionen die richtige Antwort aus:

1) A&B
2y A&C
(3) B&D
(4) C&D

[Question ID = 1103][Question Description = Q99_German_SHAAN_NOV20]
1. 1 [Option ID = 4409]
2. 2 [Option ID = 4410]
3. 3 [Option ID = 4411]
4, 4 [Option ID = 4412]

Topic:- General Paper_Set1_A

prepp
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1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 8.2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% G
Management (MA) 21% 3:4
Production and Transport (PT) 19% h:3
Others (OT) 6% 3:68

Frefafaa afee W e Hifte fomd o & gn v 9 oem # fafim o 9 wa & Feisa = wfoea
(%) T a1 YEu-AfEen Feiew o w2 8l & % T wrEee S sem 80 @ 2|
aifers 7 4T T SRS % AR W ATT o IR Ao

I * S 1 &
TR H7 & I o Frfere
st (%) fom | gea-afgen oo (37 )
Ta (TF §) 15% .
ey (T@ 1) 12% 5:3
Fmtor 23R orear (i ) 9% 5:4
ArFTEE (F 2TR) 18% 5:7
weaA (T U) 21% 3:4
Ieures IR ufiae (di ) 19% 8
3179 (211 &) 6% 3:b

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft &=t i e 5 Srew $ oftea ge 991 27 (S9med % 31 97 a)
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(1)  6.39 @@

(3)  5.96 T

(Z) 4.69 9™

@) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20M0V_S1_SHAAN]

1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector

Workforce of India

Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% B:d4
Professional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% S
Others (OT) 6% 3:68

Frefefan @ifeem W fiem Hift formd o & 3n 4 9 e % fafim &mf 9 wa & Feflss = wfowa

(%) fommo @ yEu-AfEen Heee oW w2 't asl % P wEee S sem 80 @ 2|

ifers H 88 70 STRST & STYR W 9T % IaT aler)

A % RS 1 & fa
TUIR 7 &3 I o Frfer
stca (%) T | gea-afgen oo (37 )
T (T 3) 15% 3:2
oy (Tw ) 12% 5:3
Fmtor 3t e (di ) 9% 5:4
AT (d 2TR) 18% 5:7
&g (TH U) 21% 3:4
Ieures IR ufiaes (di ) 19% iR
317 (211 &) 6% 3:b
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?
(1) 330% (2) 318%
(3) 320% (4) 80%

Ty 3 S ot SR &l W R wiEen e 6 Po gem d W 8 H BrEd Yet wreed i 7ed w5

foram wifoea 27
1)  330%
(3) 320%

(2) 318%
(4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
| 3. 3 [Option ID = 8031]



Www.prepp.in

| 4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (5E) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% biid
Professional (PR) 18% 61T
Management (IMA) 21% 3:4
Production and Transport (PT) 19% 538
Others (OT) 6% Jib

Trefafan @fes w faem fifve e o e g ot 3 toem & fafhe gt 4 ara = wese = g
(%) TR qw TEy-ufel FEEE SEUE qmiE T &1 9l &4 % Fa wEed B @ 80 9| 2
arferssr A f3u T4 3RSl % YR 9T YT % I 4]

9IE  FHEEe T AFar G
TR, oh1 &5 ARG o1
gt (%) forawor | ge9-ufgen ego@ (g9 )
Ha (T %) 15% 3:2
Tow (T 1) 12% 5:3
fmtor 3fit s (o ) 9% 5:4
wrbeEe (d 3TR) 18% B
WeeA (T U) 21% Gl
IeaTEa 1R uftEsa (i ) 19% 5:3
s (3 &) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH T 3R TN T &9 0 HEd §% BEed H FA G 6 F 49 § Fenag $Eed o fe Gea 1 aTET

Tora widwa 27
() 82% (2) 87%
(3 89% 4 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036)

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

prepp
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U LOF-WIEE LASLFIDULION Ol ¥YWOrKI10rGe O TIGEA

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (5E) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% biid
Professional (PR) 18% B:T
Management (IMA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3.5

freafafan e w faem fifve Sew o G ge o F tom & fftm gt 4 ara & wefea = g
(%) TR qw TEy-ufgen FEEe SEUE qmiE T &1 9l &9 % Fa wEed B @ 80 9 2

arferssr d f3u 70 3RSl % YR 9T YT % I 4]

9IE  FHEEe T dgar G
TSI, oh1 &5 ARG o1 FraE
wtawa (%) foawor | gea-ufgen ega@ (g0 )
Ha (T %) 15% 3:2
Tow (T 1) 12% 5:3
fmtor 3fit smeaor (ot ) 9% 5:4
wrbere (i 3TR) 18% 51
oA (T ) 21% 3:4
IeaTEa R uitEea (i ) 19% 5:3
s (3 &) 6% 3:5
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Your Personal Exams Guide

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH T 31 U U EE § FEE Aleen FEEd ®i For ae S §i & 47 ° Fea aften srww ) qem w

o A a7

(1) 5.1 i@

(3) 5.7 g

(2y 7.5

(4) 13.2 9@

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

3) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% s B
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% b:4
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Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 3
Others (OT) 6% 3:68

Frefefaa arfeem w fiem Hif fomd o & 3n 94 9 e % fafim e 9 wa & Felse = wfoea
(%) T @ yEu-AfEen Feew oTdW w2 8t &l % P wEee 9 gem 80 @ 2|
TfeTT ¥ 128 70 STST 3 STHR W 9T o Ia% i)

A % S 1 EhRen fmor
IR 57 & I o Frere
stca (%) fom | gea-afgen oo (37 )
T (TH §) 15% 3:2
TE (TE u) 12% 5:3
Fmtor 23R orrar (i ) 9% 5:4
AT (d 2TR) 18% 5:7
weuA (T U) 21% 3:4
Ieures IR ufias (4 ) 19% 58
31 (a1 &) 6% 3:b

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1) 17 : 39 (2) 16 : 37

(3)16 : 35 (4)16: 39

ot w7 & # wrEa wiEen wEad B FE SR d o vd o1 A A6l A PR 569 wEEe i Hel Gedl 6

ST TR ?
(1) 17: 39 (2) 16:37
(3) 16:35 4 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8041]
2, 2 [Option ID = 8042)
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044)

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AL * fFE T § g IR S 3T goen i TTeA FE TR 6% SHated TRgdIshl W Bl 2 7

(1) TR (2) wTFEY T
(3) HH A (4) I fawm
[Question ID = 2012][Question Description = Q06_GP_20M0V_S51_SHAAN]

1.1

[Option 1D = 8045]
2. 2

[Option ID = 8046]
3.3

[Option ID = 8047]
4, 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
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among of them fall in the domain of behavioural competencies?
(A} Self efficacy
(B) Planning
(€) Locus of control
(D) Communicating
(E) Flexibility
Choose the correct answer from the options given below :

(1) {A) and (B)
(2) (B) and (C)
(3) (D) and (E)
(4) (B) and (D)

frfafan 32 giatg s amaett 6it g2t 2 G sroamm e fafie wral = meam 9 faf=a e
T 21 5% IR S weER smay i avard 8| 39 @ F1 of GuaTe Heer AT ¥ e ordt £7

(A)  omeR-aHal (Ame)

® FEeE

(C)  H==w = AiEafd
O ==

(B)

= o o famedt § © Wel S 1 99 Fike

1) (A FR®B)
@ (B R(C)
@) (D) (E)
@  (B)RD)

[Question ID = 2013][Question Description = Q07_GP_20NOV_51_SHAAN]
1. 1

[Option ID = 8049]
A

[Opticn ID = 8050]
i3

[Option ID = 8051]
4, 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List 1 Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive methoed (1) Using Swayam and Moocs

(B} Open and distance learning method (ll} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(I1}, (C)-(111), (D)-(IV)

(2) (A)-(ll1}, (B)-(I¥), (C)-(1), (D)-(1I)

(3) (A)-(1V), (B)-(NI), (C)-(N), (D)-(1)

(4) (A)-(ll), (B)-(1), (C)-(IV}, (D)-(llI)

A1 % ae geit-I1 =& T $ifere) g=i-1 9 3= sifam seenet | fargm £ fafya & 8 8, o=k g=h-
11§ siftrm faftmt 6 waesfiiea ser 6 aots § of )

g T
forgor =t fafzen usErElddr g $t aRdlh
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(A) HAMH-GWH =hi FTafeercaes faft D) wa=d 3R qeg & JEe

(B) W i gad arftem fafy (ID) Al remTen G
(C) Tereror it dafes faik (I1I) WISTER LI gt

(D) foreror it srem By IV) i & my-wry e wwa
5 o o faweal § O e SO% w1 99 Hi

1 @-O. (B-AD. (C)-dI), M-dV)
@) A-dID. B)-IV), (C)-(), (D)-(ID)
3 A-av), ®)-d1n, (©)-an, (D)~
@  @-dD. B-D. (C)-AV). (D)-AID

[Question ID = 2014][Question Description = Q08_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054)]
3. 3 [Option ID = 8055]
4, 4 [Option ID = 8056]

4) Given below are two statements

Statement (I) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (ll) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I} and Statement (ll) are correct

(2) Both Statement (1) and Statement (I) are incorrect

(3) Statement (1) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (11} is correct

%97 (D) : STerley ot atiyemar wleon = whenfin & Fm of st aaar 1 uht dim w
ST e % e AR A S 2

e (D) : Fegig =afema wlam i nad =afmaa e et & fafie smer 3 o =
uT S o wEEE IR e @ E)

SUUH FIA = ATARE 7, A U U fmedi 0 © @9w 39T ST 99 Hif

1) w9 @ AR A 2 wE 2
2)  =m (@) SR (I) 2 e
3 W O 2, A T (1) TR R
@) wR J)TeE 2, 9FE B9 (1) w8 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8057]
. 2 [Option ID = 8058]
. 3 [Option ID = 8059]
4 [Option 1D = 8060]

oL B2

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes,
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both {A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false
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(4) {(A) is false but (R) is true

fio @t #om g e  : TF iR (Assertion A) % &1 7 faflga 3 @1 g@u 3w F (Reason R)

%I H

ATFFIT (A) : foreqor o smgfi o7 a8 & & st wEmEa gonelt = PR e stitem wiwm
i TEAY &9 2

=1 (R) ; et el fRremr wEEa wonelt i siftem aftSifeEt § guar % @ 9w fee amn

=g

YU FYF % oArs 8, 99 i e fepeui § @ wE) W # 9 il

(L
2)
(3
(4)

(4) SR (R) 301 57 2 i (R), (A) #t et = 2

(A) 3 (R) aF1 we &, @ik (R), (A) hi wdt =omeen =41 21
(A) wF 2, IFF (R) 1o 2

() soca 2, afF (R) T3 2

[Question ID = 2016][Question Description = Q10_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Optien ID = 8062]
3. 3 [Optien ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

form v % oty 7 giawrli-uities = Deafad frm ST 27

Y
(3

Tt T (2) et wig
SIS A (4) wETeH MY

[Question ID = 2017][Question Description = Q11_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4, 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of

research?

(A) Descriptive method
(B) Experimental method
(C) Ex Post Facto method
(D) Historical method

(E) Exegetical method
Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

uftsreu aftemr Rt afoife o @t ofigf® m oufe % =v 4 2l 3, oy 6 f=fafea § 8 & &t

] TIE GUFL 27

(&)
(B)
(©
(D)

(E)

CEICI e R
warTeRes fafa
wHrara fafl

e fafy

e TeH Tertt

9 fou o el § 9 uE I 1 = iR
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1 A IR®B)
@ (B AR(C)
3 (O D)
4 (D) (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069
2. 2 [Option ID = 8070
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List |l provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (1) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis  (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(I1}, (B)-(IV), (C)-(I), (D)-(1)

(2) (A)-(1), (B)-(I1}, (C)-(1N), (D)-(IV)

(3) (A)-(I), (B)-(llT), (C)-(1), (D)-(IV)

(4) (A)-(ll1}, (B)-(1), (C)-(I1), (D)}-(IV)

A1 % wy ge=i-11 & e fifse) gh-1 8 Wy % = 187 8, F90 gAi-11 4 9% g Ug% a1

geftI F=fI1

I o =00 YT | AT AT AR
(A)  wE Yy (D) ATFS! 1 wfies A AR Tt
(B) wftrewar gt D) U FoTX YT W Al H
(C) widerr afen =1 = (III) <= 5 &9 & e uv 33
(D) kgt faweror (AV) e = = % sl e el e
H fou o famedl # © W SR H1 T B

(1)  A@-aAD. B)-aV), (O)-ab. (D)-O
2 A-O. B)-1D, (C)-AID, (D)-AV)
(3)  (A)-dD, B)-1), (C)-D), (D)-AV)
(¢ (A-dID. B)-@). (O)-AD,. (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option 1D = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076)

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article,

Statement (ll) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (II) are true

(2) Both Statement (I} and Statement (ll) are false

(3) Statement (I} is true but Statement (ll} is false

(4) Statement (1) is false but Statement (I} is true

= 3w fw e F

%97 (I) T TU-Te ST WE-TF § oi@d T AT  Fawd IR et % AT BiE HAar T

= 3
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T4 (ID) : iy wadt A 9t s s it mal % e sthad 21

ST H H aTe 4, = B o feredl O @t s w9 i

Q) wyE (D) i I 21 T B
2) = (@) K D 3 e A

3 =y Q) " 2, dfea waE (D) s\ed 2

(@) A (D) 5= B, 9 weE () 99 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8077]
2. 2 [Optien ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion {A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis {(H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) {(A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

F= @t = for e € wm sifywas (ﬂssertionA)%mﬁmﬁ%ﬁaﬁmwﬁeamnfi}

& EgH

#firRyE (A) et miy ofereu (Hy) =1 Faesofa oferegar (Ho) i @gmar @ wdaor fen s
Ut

FR (R) : i aierew T (Hy) = aehanfa =i s1figfe did w0 3 78 6 o1 gt 21

ST YA ok AT 5, A U U faeredt W O ged 3uTh TR W 9FA I

1)  (A) 3 R) IAT G T @R (R). Q) F W@ e B

(2) (&) ¥R R) I TG 3, AR (R), (A) F @ w76 2
(3) (HTd B, afeE ®) T 2

@) (A= TE 2, A (R) wel 2

[Question ID = 2021][Question Description = Q15_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082)
3. 3 [Option ID = 8083]
4, 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

Wi S8 ufg yow oY ugE e fow Fratafaa @ @ e fof w5 w22

(1) 30 sFad (2) 309
(3) 15 3EH (4) 15 7%

[Question ID = 2022][Question Description = Q16_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8B086]
3. 3 [Option ID = 8087]
| 4. 4 [Option ID = 8088]
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12) Which Newspaper logo bears ““Let Truth prevail™’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

fopm THTERT 1 Td- o= (A "Let truth prevail” 87

O  f e Q) TEW A 3
@ fafm @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8089]
. 2 [Option ID = 80%0]
. 3 [Option ID = 8091)
4 [Option 1D = 8092)

B B =

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

{(4) (A) is not correct but (R) is correct

= g e fau g ;v srfieme (Assertianﬂ)%ﬂﬁ%f@ﬂ%ﬁ@ﬂ?ﬂ%w(ReasonR)
FEIH

a1fiepeE (A) | aAftrs wan (siesre) sara i gafweie i disiE g 2, v A3 Higa
) e T SO U9 U2 @ 2

FRO (R) FER TAR (Siswne) Hitem W s 2 Y 3T WeE 2

S HYA % e 5, 4 G v feeut O O weg S SR o iR

1) (&) it ®) A g 2 = (R). (A) F wd =en 3

@) (AR @) A E, A ®), Q) B e s T Y
(3) (M TR, @l (R) g 78 2

@) (A= TE 2, 9 (R) WE B

[Question ID = 2024][Question Description = Q18_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8093]
. 2 [Option ID = 8094]
. 3 [Option ID = 8095]
4 [Option 1D = 8096]

oL B2

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FIOER % SUd & 37 Ul Uiel Aeehies FRE TR ¥ TH RO e 9 vl dfed guv

(A) wuE fagm fafimt $i amar H @9 F@ % U
(B) = i safim siwe % @y v 3 %

(C)  smfem Fi e gome = TR "eH % fow
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(D) =2 °4Won SN % e Wi = woe wrE HifE B 2

H= for o foekedl d W UWU TS 3T 0 9E i

(1) e (A) 3R (B)
(2)  a (B) 3 (C)
(3)  %aw (O) i (D)
(@) T (A) JRD)

[Question ID = 2025][Question Description = Q19_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098)
3. 3 [Option ID = 8099
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

o & 78 g d @ e £ wEEmie st A e i

& i
(B) e
© T
D) wta

(E) &I =1 9 g

1 fou 7o fawedi § @ UF W H1 99T S

(1)  FFd (A), (B) 31 (C)
2 % (B), (C) (D)
(3 %39 (0). (D) 3R (B)
4 3 (4), (O) FR(D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_51_SHAAN]
1 [Option ID = 8101]
2 [Option ID = 8102]
[Option ID = 8103]
]

1.
2.
3.
4. 4 [Option ID = 8104

3
4

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family
(1) Rs. 3,000/~ (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs. 6,000/-

T =y T ST TET TrRTTT Tr TS TS T TTOTIT A TTETE T 4NN TITTE —TTTRC TTT=F 4 TTeN=TE TF A SN Trry
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R 2Ifim 5 WEAT A 5000 T 97| A1E 3@ T % A FA g=q 5000 ¥ off 91 3w gfEw fi eiga
i wta e i ?

(1)  3000/- v (2) 4000/- s

(3  5000/- TR (4) 6000/ T0@

[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107)
4, 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76,5  (2) 98.25
(3) 55.75  (4) 56.75

70 § 90 = it A g¥it T el % SAd SaE -

(1) 765 2) 98.25
(3)  55.75 4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8109]
2. 2 [Optien ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres, Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

FE ARG 33 TeX g9 9 W L1 Sfex 39 % oA gem F s @ oIfSia FRan 21 afoma § @

&dT9 :
(1)  25% (2) 50%
(3  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116)

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

7fg Rt g =1 @A 9o9 3uE o gem W 95% R ai ey =R wfewam =0 37

1) 4.26% 2 5.26%
3 5% @) 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs, 1,600/- (2) Rs, 2,000/-

(3) Rs. 2,080/~ (4) Rs. 1,560/-

72 is =afs fordt g w1 25% ufawa A o & 39 1200/~ o7t 3§ dwar 2 9t 30% =1 @19 HAH
fore =@ =w =5y = fw Fima = s= =@ @ e

(1) 1600/~ v (2) 2000/- =
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(3)  2080/- ¥ (4) 1560/- T

[Question ID = 2031][Question Description = Q25_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge {pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3} Upamana (4) Unuplabdhi

79 YA geeE § yme w Fetataa § 8 fE-w gin ome atg 6 Bl §19 95g 3 maEa )

ATl 27
(1) el (2) 9N
(3) sTEE (4) sFTetey

[Question ID = 2032][Question Description = Q26_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128)

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B} Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B}, (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)

T FhuTRE o JTTER T < A H T 1 Gl 369 1 & 7

(&) T B o e A wEEe/ wEsTar 1 weE (39EE)
(B) PRl = FY ()

(C)  fumon #i fagh % wv o gfg (Frmm)

D)  rivuren w1 (i)

(E) fifga f5am = sgmm o (sgEm)

fi=5 for ™ forreal € @ Ot s W 9= Fifvw

1) D), (E). (A). (C). (B)

(2) (D), (C), (B), (A), (E)

(3 (D), (B). (E). (A). (©)

@ (D), (B}, (&), (B), (O)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130

]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verhal autharitv) tn inferencea?
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T YREHE SR 6 A -| WIEE W5g Y Wt STAH F ST A @ 7

@A) Fm

(B) wfiw

€ dig

D)

(E)  =matn/arme

Fror T 1w Fepedl 3§ & v I w1 WA Fif
(1) = (B) 3R (C)

2 F& (B). (C) 3 (E)

(3) = (B) 3 (E)

4 FI (A). (D) 5 (E)

[Question ID = 2034][Question Description = Q28_GP_20N0V_S1_SHAAN]

(&)

(B)

(®)
)

(E)

Choose the correct answer from the options given below :

(D
(2
(3)
4

Nayaya
Vaise sikas
Buddhists
Minﬁmsﬁ

Carvaka/Lokayata

(B) and (C) only
(B). (C) and (E) only
(B) and (E) only
(A). (D) and (E) only

1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (1) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (Il) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement () are true

(2) Both Statement (l) and Statement (ll) are false

(3) Statement (l) is true but Statement (I} is false

(4) Statement (1) is false but Statement (I} is true

= 71 Py fam o E

%I (I) :

w0 (10) :

et el T % AR SR e 9 % W o B 2

s T 75 Tei samdt 2 7% 25 59 I9R ® SI9AW o1 =Ry "ioh a5gad: I8
sl 2 2 29 F e e 2
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1) =R @) R A D TA 3
@)  F I AR (1) 2 3| B
(3) U (D) 9 2, afF Fya (D) 19e 2

(4) =9 (1) 39T 3, e =wgA (ID) g 2|

[Question ID = 2035][Question Description = Q29_GP_20N0V_51_SHAAN]
1. 1

[Option ID = 8137]
Pl

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason  (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll} Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

g1 & @y geit-11 =1 e Hifsg)
qet-1 eI
% = =l REICD]
(&)  sifreron i wmie =% w9 gfy @ el gl g 2 ael am ad 2 SN W
T
(B) RO 1 HH an wgE W A 2|
() Fafka Frem w1 sgEw & (I safo vaErd w e 2|
(D) wenftm ) sneneht sfirgron =1 w99 (IV) Wit I= gsT 3

= fau 7 famredl § © 981 F9C w1 =9 Fifg

1) @A)-O, B)-AIDh, (C)-0V), (D)-(IL)
2 @-IV), (B)-dID, (O)-A). (D)-aL)
(3  @-AID, B)-AV). (O-(D). (D)-AD
@)  &-dn, @)-{O, (O-d1D. D)-IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An T Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models,

The technology that has been used to accomplish this, is ;

(1) Faster RAM (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

w18 4 BT 3 g g us A wise H duei %1 i B R e e fagg B gua gt 2 9
I et Aueia Aisal i TRl SR ¥ Bl 31K 797 9 7 2|

| FE % fon R Senfies w1 uEi e e 27
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O e (d) " @ =g
(3) witrs W7 o8 gEA (4) S d G A

[Question ID = 2037][Question Description = Q31_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4, 4 [Option ID = 8148)

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it.

Reasons (R} : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

4= 2t = R T 2 ;. o= ofymym {Assertion A) % &9 § faflgg 2 @ By 36k F19 (Reason R)

% =1 ﬁ :

3TTHF (A) : TR A A P H O TRiT foes sTaras ¥9 9 weTfud & anau|
O (R) : AT 31 FEA WY IR W 9w § wang A W awd|

IUUTH FI T AT H°, A 9T T fawment § ¥ T8 ST H 99 it

1) (AW ®R)IA T R R), (A) FT T = 2

@ (&) IR R) I T F, A (R), (A) F 7 = w6 2
@) (AT R, 9 R) s 2

@ (A oEE 2, A R) T 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8149]
2. 2 [Optien ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B} 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A}, (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B}, (C), (D)

(4) (D), (C), (A), (B)

gaU 91 U gud B Gual + w0 § Fofaiad @i auaet % 98t %9 i 9geE i)

A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes
= fog o ferpeut @ 9 wd s w1 == S

1 D) A O. (B
2 @, D ©O. B
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3@ @.6B).0.0
@ D). ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4, 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth,

Statement (1) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement () are true

(2) Both Statement (l) and Statement (ll) are false

(3) Statement (I} is true but Statement (ll} is false

(4) Statement (1) is false but Statement (I} is true

e % Heg 6 e sy 3 arg-wrs Soteist gAl 8, e g e fag e

w2 (D) : TE-F1E I I sy W w9 Bl B
o (I1) ; S-S % Wieue U sy i o FE wften dim 4 A TeT S 1 g 2

IO FHYF F o °, T8 B e ferew # 9 g so w999 il

1) = (T) 3 3D A =3 )

2) = (1) S AD 2 o3 B

(3) = (D ¥A &, I w5y (D) 9 2

(4) =9 (D) 29 2, S w9 (1D T3 2)

[Question ID = 2040][Question Description = Q34_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4, 4 [Option ID = 8160]

30) Match List | with List Il ;

g1 % =g g1 1 e Hiftw)
il Tt 11
(HrgeR T ¥ ) (SrITsH)
(A) OCR 1) < a1 TEafdioa SwEsT H T T 5
feTe w3 =1 R)
(B) OMR D) sg-feredi st § o gg7 wH & fog
I e g
(C) Email (1) Taw=HIT F T
(D) Instant Messaging AV) TEFITR HGHTH
F= o o fawewl § § OF S w1 o hi

1) @D, B)-1), (CO)-AV), O)-dIL)
2)  (A-dD, B)-D. (O)-A1D. (D)-AV)
&) @AM, B)-AD, (C)-11I), (D)-(IV)

fAN fANATY FRALTEY (OO TV TNMUATTTY



Www.prepp.in

Match List I with List I1:

Last I List IT
(Computer Terms) (Purpose)
(A) OCR (I)  Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (IIT) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
1)  @-aAD, B)}-@). (O)-AV). D)-A1I)
(2) (A)-AD, (B)-D). (C)-(11L}, (D)-(1V)
3  A-@, (B)-dD, (O)-(IID), (D)-(IV)
@  @-@, B)-dD. (O)-AV). D)-A1I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_51_SHAAN]
j sy

[Option ID = 8161]
2. 2

[Option ID = 8162]
%3

[Option ID = 8163]
4, 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafefigd 0 9 $la-ar = 9 = o B G gmyd 20

(1) U IEATEES Q) Taoree weivss
(3) M SRS @ e

[Question ID = 2042][Question Description = Q36_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga 4 9 wiv-w = Fiq R 9 w5 w1 TS 8 e

(1)  warfm s (2) uEd S
(3) e (4) St

[Question ID = 2043][Question Description = Q37_GP_20NOV_51_SHAAN]
1 [Option ID = 8169]
. 2 [Option ID = 8170]
. 3 [Option ID = 8171]
4 [Option 1D = 8172]

oWk B

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?

(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

frfafaa & @ Fia-=f e o9 TR Fedl 3 oK 3uH et @ wH A | ¢

1 9= (2) eyt e
(3) =gEd (4) TEH

prepp
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[Question ID = 2044][Question Description = Q38_GP_20NOV_51_SHAAN]

T

1 [Option ID = 8173]

2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

{(4) National Mission on Survey of Himalayan Ecosystem

ARG WERR ] TieRviE #1291 % @2 § NMSHE S=fafiga § 2 e agmew 27

(1)
(2)
(3)
(4

National Mission on Solar-Hydro Energy
National Mission on Sustaining Himalavan Ecosystem
National Mission on Sustainable Hydrogen Energy

National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_51_SHAAN]

1
2
3.
4

35) Which of the following pollutants have adverse implications for human health as well as climate change?

. 1 [Option ID = 8177]
. 2 [Option ID = 8178]
3 [Option ID = 8179]
. 4 [Option ID = 8180

(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B}, (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frferfas 7 @ fr Tt w1 dfigeT I TE % TR S STy T W 9 2 7

(A)  ATEI SRS

(B) wWER v (PMas)

(C)  anwH

D) A

(E)  r5gm wiFanss

o faw mu fawmeal # 9 w@t sa wr ==m Hif
(1) A= (B). (C) r (D)

2) =« Q). (B) 3R (C)

(3) == (B) (D)

(4) e (B) 3 (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]
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36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE

(3) NCERT ; ; (4) AICTE

7= T & gedl o, wAdT s=mm e A ggienr e § o gigmsme w9 feifa 9 & oo

fr=fafgs 4 @ Fra vdm ferm/oree =t i fear an?
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(1)
(3)

7 it 4 2 wAHEdd
L AR A (49 v s

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185)
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il, List | names various organizations while List Il gives their location :

List | ;

;3 Listll

(A) NAAC : : (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru
(C) NDRI : : (I} Lucknow
(D) CDRI ; ; (IV) Karnal

A1 % wy go1-11 1 e ifen
g1 Tt 11

Q) e O fE
B) WaEIHT () e
(C) A3 m amg (IIl) wETs
D) =i E osmw ot (IV) =

=5 fer o famedl 4 @ o T = 999 Fifm

(1)  A)-an, B)-dID), (Cy-I), (D)-IV)

(2) (A)-1D), (B)-D). (C)-(IV), (D)-(111)

(3)  (A)-AID), (B)-AD), (C)-(I). (D)-AV)

(4)  (A)-AV), B)-IID, (O)-(I). (D)-()

[Question ID = 2048][Question Description = Q42_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8191]
4, 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :

(1) (A}, (D), (E) only

(2) (A}, (B}, (E) only

(3) (B), (D), (E) only

(4) (A}, (C), (D) only

73 foren fife (w1 € 1)-2020 % @ 3 &1 v Fit 9O FE T W@ 2| 39 Ferm % i mwm w2

(A)
(B)
(€)
(D)

TENREh § SEUE 3R @R g e FEm R S
AT i TAEH g WRER 5 = % ey # R % g TEA-UEA 5 UF 59 el AT
gefi vl sronett ) werar ¢ H wara 2 wgnndl Rrerami = i

e qitat, i iR S afadT & g7 § Afvas wHifeat = amer w9 3g R
STt 1 T T 1T STaUEa SIUEE T Al
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(E)  TH&1 AlEnreEnt | Sitlgs SR ATAFI Earsd = HH9 /=

2 f2u mu et € @ wdt sa w1 wwa Fildw

(1) == (A). D), (B)
2 e (A, (B), (B)
3 3 (B), (D). (E)
4 FA(A), (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A}, (B}, (E) only

(2) (A}, (C), (D) only

(3) (B}, (C), (D) only

(4) (C), (D), (E) only

Frafafea § @ -9 3-sfrm 59 87

(&) wH

(B) W@

(€ T

D)

E) 75

Aot faw e foepent # @ v s W ww Al

(1) === (A B). (B)
(2) a4 QA). (©). (D)
3 e (B), (). (D)
@ === (C), (D). (B)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-47
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T T % GoE o9 gRI A 2015 H uaa fawE wed-4 @ getug Frefafea 3 @ Sh-w @ smEen

T U7 ¢

(1) a9 |\ IR agEw (2) TorETTER e
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(3)

Tl I (4) = TETER UF STEEE

[Question ID = 2051][Question Description = Q45_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4, 4 [Option ID = 8204]

Topic:- General Paper_Set1_C
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1)

The

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS i HEYHIYS® ¢ a9 36 a8 76U T8 93 9 36 2

BT T FTS- 19 HeMRI THR THA T SYA9d 37T Tanea e iR fita favagg & o i w=E
w3t T 21 fioe ad % sifm A F oRen § = g F WY A G AR T BisAR Yok
Herg § A P 2| oW qF gEg FI U 10 T AT A I T g € R gl wear i aifd
T SEEAT I IS U8 W 8| g AT TR @R e ¥ FE T B, T8 Th SEE
amfaw-alls @z ot 21 3@ = waw oafs ow wwiRe ) e fammwd @t anfie oii
TR T UBH O § Nk o ane o e R e O 2 A ug S amiies s afaafi
(ferarll) 1 9 w1 31 ot o TRl cd e AR @ R, WY B R FIva Taned wed F Wedr ¥ 94
= wedl gggl B i @ W 2 A 7 Afvew geam agie feem % wE W ff 3 @ Eiee
Ao & Aged H s w151 21w T @ st el st e man @ €1 9 9 wan Fr afifeatae
e G B0 wea i Rl g gidte Tl % sles iR wng-ae @relt 92 21 siaddm am gneA
g 2 T 400 fafemm (40 i) o it iEn o awdt 3| faza d=% 9 sgEm e & B w9l
g -0y (i) @ 110 fafomm smieh sen i et snofh) gee sl 2 B 500 fufemm (80 #w0s)
<A AT g sl W U e | g d g )

major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4} Health

facftar forgerg = =12 faza =1 as@ sz de oe &9 & S 27

(1)
(3)

Siteiies (2) YR
= (4) @A

[Question ID = 2052][Question Description = Q46_GP_20NOV_51_SHAAN]
| 1. 1 [Option ID = 8205]
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| 2. 2 [Option ID = 8206]
3. 3 [Option ID = 8207]
4. 4 [Option ID = 8208]

2)

The

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soelal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T GEEEEF 9 T 589 1 3T T 99 W IW 3

FIAT S Fifag- 19 HEMRT §91 W99 1 1Ay 4as @ g iR Tyt favaag = og i ved
a1 T 31 e ad % ifm & 9 ot § 5o sqwa F Wy T aERE TR W DT U
HEId ® %l IR B o1 T g@E BT A 10 oG @ S 5 el g% & AR gl wear B gl w6
TR AW Wi I3 IS W@ 8| W AT WEWH WR G U wEl I 3, AT U T
amTREm-tE W% Wt 31 W % Tow oAt o awiRie 3 e R wenfie st iR
(Feparft) A 7 w7 €t ot wr gordieht geg WM W T 8, A 2 g fava e we % ueEm U ue w©
@R wedl gedl ol 3@ w ¥ oaw u Afvaw oedE et feem % oW W o g @ Eice
ao-aa & Sged # Foas e @ g1 ' B e srot Hefen ot s mer @ 21 s A v B ufifeufi
w6 G BP0 W gt Fivit g ddtE Tl % gles ik wg-ae @t 92 3| saddm am ded W
g 2 5 400 fafemm (40 =) i it Teien s v B fara % J R A R B wm e
g7-Ta (W) d 110 Ffemn smieh ser i wh snof) gom st 2 B 800 fafema (50 #03)
T AT gRend) Sl B g R § awd TE g )

pandemic has left which of the following area unaffected?

(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEr = Frefataa § 8 e 8 W waE A8 ugi 27

1)
(3)

TR (2) T
AT 3T T (4) TFTEIR

[Question ID = 2053][Question Description = Q47_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8209]
2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4. 4 [Option ID = 8212)

Read the passage carefully and answer the questions that follow -
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The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UN's soclo economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

IS i WEYHIYS® ¢ a9 36 18 76U T8 93 9 I6 2

FIAT T FITS- 19 HeMRI THR THF T SYA9d 37T TR o9 iR fita favagg & o i v=E
o€t I R1 fimet ad W sifim A F when § cuth s % @Y 97 AR SRR H SisH 9o
Aerg § A Y 2| oW qF gE:g FI U 10 T AT A I T g € R g wear w aifd
T SEET I I U8 W 8| g A8 TEWR WRYA e ¥ FE T B, T4 Th SEE
amfaw-alls @z ot 21 3@ = T ol e wwifE ) e fammwd amts anfie o
eI THTE USH 91 § R @ g as TR R T 9Te ¢ G O = gt i afamfi
(ferarll) 1 9 @ 31 ot o afoht cd e AR @ R, WY B A FIva Tane wed F Wedr ¥ 94
= wedl gea B il @ W 3 A 7 Afvad geam e fEem % wE W ff 3 @ Eiee
ok % ged ® s R g 31 ' T @ st e o o e @ €1 o 72 war R afdeaten
e G B0 weT i R g gidta Tl S sles iR wg-ae @relt 92 21 siaddm am geA
g 2 5 400 fafemm (40 =) @ it TeiE s v &) faza §=% 3 AR e & BRosm e
g -0y (i) @ 110 fafomm smieh ser i st snofl) gee sifime 2 B 500 fufemm (80 #0s)
AT 210t gl sl B g w4 and 58 g e

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH-TT TEEY HIIS—19 T Te® FH AT 520 27

(1)

(3)

L

ofirn (2) I I
S RTARE) @)

[Question ID = 2054][Question Description = Q48_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Option ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence In Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the

tragic milestone of one million deaths, and the human family is suffering under an almost
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intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T GEEEEF 5 T $9E a1 3T T 99 % IW 3

BT I Hifag-19 TeEl THR W99 1 EYd ARas W gwe iR fidfa favaag & o 6 g
a1 TR 21 ew ad % sifts B § ol § oud s % WY U ArRE STERCHE H DS T
HEId # %t IR 3| 19 T q@E BT A 10 TG @ A I el g 8 AR gl wear B gl w6
T SREAE Sy IS U TE 2| UGy AT WEWN WREA GHC ¥ wE ARE B, T§ Tk Nqmg
amTREm-tE W Wt 31 W % Tow e e awifad 3 e Rl wenfie et iw
R R o e e e et
(Ferardl) # 7 o St ot w aoiht Fea WaF 9 @ 8, WY o 9% fave TareT wed % ueEm U we ©
@R wedl geal ol 3@ w ¥ oaw u Afvew oedE et feem % W W o g @ s
a5-aa & Agea ® fous g 31w for e st Hiefen ot s nen @ B w2 9 wan B ufifesfeE
we A B0 W 1 iR g gidtE Tl % glew ik wyg-ae @l 92 ) siaddm am aed W
I 2 5 400 fafemm (40 =) i it Teie o vt B fra d% J R oA R BT e
g7-Ta (W) d 110 ffemm smieh swer H w=h snof) gom sl 2 5 500 fafema (80 #U3)
T A gRend) SretEl B g R § awd TE g )

Which of the following organization has given technical lead in the UN’s socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

=1 4 @ 5w geon 3 UN it gt onids sfamfa (fmadl) T =+t 390 wem fran 87

1)
(3)

UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]

3)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and

longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,

prepp

Your Personal Exams Guide



Www.prepp.in

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

alongside the health response lead by WHU. and the Global Humanitarian Kesponge rFlan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T I GEUFIYEE 98 aUT 36k 978 T T 9% 9 W 3

BT THE Hifag-19 HEEd §HR W9F 1 Aqd ARaH W gwhe iR fidfa fwaag & o 6 g
a1 AR 21 oet ad ¥ sifts B § o § oud s % WY T ArRE WTEEH H DS T
HEId ® Tl IR B o1 T q@E BT A 10 TG @ S S e g% & AR gl wear B gl w6
T SEAE Sy IS U TE 2| UGY AE WEWH WReA GHe ¥ wE AfrE 3, U Ok g
amETTE-w wwe ft 3| 2w W UST ot W uwifae 2) o frww aenfas o ik
(Rerardl) & 7 @ St dt w oAt e WaF 9 @ 8, WY o 9% fava wane weA % ueEn U e ©
@R wedl gedl B ol 3@ w ¥ oaw u Afvew omdE et freem & W W o 3 @ s
au-aa & Sged 1 Fous e @ g1 ' B e srodt e ot s et @ 31 s A v B ufifeuf
w9 A BP0 T )R g difla Tl % glew 3R wMg-ge @iell 98 2 AaudiE s ied
a9 2 5 400 fafemm (40 =) @ it Teie s vt &) fara S5 J R A R B owm e
g-Ta (W) d 110 ffemn smieh swer F wh snof) gom sl 2 B 500 fafems (50 #U3)
T A gRed) sl B g R d awd TE g )

(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Hifas-19 % e § Frefafga § @ B @i/ afaem F &g g = a5 w0 q9ra e e

(1) T 39 (2) TR aiTa g
(3) Tttt gfaee (4) e afiEm

[Question ID = 2056][Question Description = Q50_GP_20NOV_51_SHAAN]

1
2
3
4

. 1 [Option ID = 8221]
. 2 [Option ID = 8222]
. 3 [Option ID = 8223]
. 4 [Option ID = 8224]
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